INDUSTRIAL ALUMINIUM PROFILE SYSTEMS

Aluminium

MODULAR CONSTRUCTION TECHNOLOGIES
ACCESSORIES CONVEYORS SYSTEMS

KATAAOIOZ

PRODUCT LIST
2024
JANUARY

v N
e-mail: sales@aluminium-profile.gr
www.aluminium-profile.gr



Industrial Profiles / T Slot Profiles A\uminium
Profile
6 8 10

L4 -

\ J
Moment of Inertia |Moment of Resistance
Code Product Name Material ! I Area Weight
Ix ly Wx Wy
M 63 20x20 6063 | 0,61cm’' | 0,61cm’ | 0,61cm® | 0,61cm® | 1,42cm? |0,38 Kg/m
6 8 10
L2 (
25
1.4
-
M fl i i
Code Product Name Material oment of Inertia_|Moment of Resistance Area Weight
Ix ly Wx Wy
M 63/A 25x25 6063 | 1,39cni | 1,39cmi | 1,11cm’ | 1,11cm® | 2,12cm? |0,55 Kg/m
6 8 10 - Y
£ o
10 20 10
ST Bl
1" e
]
- J
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 99 20x40 6063 | 4,17cm’ | 1,12cnt 2,08cm®* | 1,12cm® | 2,6cm? |0,73 Kg/m
6 8 10

80

ad O%ﬁ
) A ] 4

. | e
- -..
D D D

- o
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 95 20x80 6063 | 29,14cm’| 2,12cm’ 7,28cm?® | 2,12cm® | 4,88cm? | 1,32 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZ BEPTEZ)



Industrial Profiles / T Slot Profiles A\luminium
Profile
6 8 10
- | e
% MAYPO ANOAIQMENO
- KATONIN NAPATTEAIAZ
| ,
o >
3 E» a7 '
LS & ﬁ - “N
N/ 8.2
&
® -
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 22 30X30 6063 | 2,95cm' | 2,95cm' | 1,97cm® | 1,97cm® | 316cm? |0,85 Kg/im
6 8 10
[.2 / )
koY
- J
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 30X45 D 30x45 6063 | 3,02cm | 4,57cm’' | 21cm® | 22cm® | 3,35cm? 0,91 Kg/m
6 8 10
s
60
535
u =
S J Q) g
2l ! a7 '! !
SEl -
| | - '.l
N 0
@ 30
o> \_
M t of Inerti M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 26 30X60 6063 |20,12cm’ | 546cm' | 6,71cm® | 3,64cm® | 559cm? | 1,51 Kg/m
6 8 10
£ (
90
83,5
o~ u
N| > =
T _TC 9 = Ba Ly J
IR e NNy
-
9
& 30 30 -
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 19 30X90 6063 | 63,29cri' | 7,99cri' | 14,06cnt | 5,32cm’ | 8,12cm? | 2,19 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Industrial Profiles / T Slot Profiles
6 8 10

(>

A\luminium
Profile

[
= &0 a -
M fl i i
Code Product Name Material oment of Inertia [Moment of Resistance Area Weight
Ix |y Wix Wy
HEX 30 HEXAGON STAND 30 6063 | 14,6 cm’ | 14,9cm*® | 566cm® | 4,96cm® | 6,3cm? | 1,72Kg/m
6 8 10
s
u 35
— -
3 o Py
L | A |
8,2
N\
Code Product Name Material Moment of Inertia | Moment of Resistance Area Weight
Ix ly Wx Wy
M 11 35X35 6063 | 4,55cm*| 4,55cm* | 2,6cm’ | 2,6cm’ | 3,67cm? | 0,98 Kg/m
6 8 10
(> | -
35
o
o
Moment of Inertia |Moment of Resistance
Code Product Name Material ! : Area Weight
Ix |y Wx Wy
M 11/A 35x35 Heavy 6063 6,7cm’ 6,7cm’ 3,8cm’ 3,8cm’ 4,920m2 1,29 Kg/m
6 8 10
£ (
I o
v ﬂr
=41 50 a7
; tﬂ
274, Ledg
o
M t of Inerti M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 21/L 40x40 S8 6063 | 8,65cm‘ | 8,65cm® | 4,32cm® | 4,32cm? | 5,34 cm? | 1,44 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZ BEPTEZ)



Industrial Profiles / T Slot Profiles

A\luminium
Profile
6 8
~
MAYPO ANOAIQMENO
KATOIIN NMAPAITTEAIAX
-
Code Product Name Material Moment of Inertia |Moment of Resistance

™ Iy Wi Wy Area Weight
M 04 40x40

6063 | 7,10cm’' | 7,10cm' | 3,55cmt | 3,55cm | 4,49cm? | 1,21Kg/m
4n -
6 8 10 Nt
2 -
g
M f Inerti i
Code Product Name Material oment of Inertia | Moment of Resistance Area Weight
Ix ly Wx Wy
M 04/A 40x40 Heavy (S10) 6063 | 10,37cr | 10,37cm | 6,05cm® | 6,05cm® | 6,12cm’ |1,65 Kg/m
6 8 10 - 4 é
29
L3 p——
%fig 51:’1'
&=
o
N
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 04/G 40x40 Heavy (S8) 6063 | 12,1cm’ | 12,1cm’ | 5,18cm® | 5,18cm® | 7,32cm’ |1,98 Kg/m
6 8 10
£ g
I L
-+ =
- —
&
-
M t of Inertia |M t of Resist
Code Product Name Material oment of Inertia oment of Resistance

I Iy Wi Wy Area Weight
M13 45x60 6063 | 31,29 cmi'| 18,45 cm'

10,4cm’ | 8,2cm’ | 9,45 cm? | 2,61 Kg/im

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Industrial Profiles // T Slot Profile A\luminium
Profile
6 8 10 Ve ~
(> | ¥
P R ]
CJ 0} o
x.-—z“_\,g_ R o
[t ] -
% h@_
6.8
40
o J
Code Product Name Material Molment [of Intlertia Moment of Resistance Area Weight
X y Wx W)’
MF 432 40x32 6063 | 5,00cm® | 7,03cm* | 3,10cm® | 3,52 cm® | 4,90 cm? | 1,32 Kg/m
Industrial Profiles // T Slot Profile A\ Juminium
Profile
6 8 10 Ve ~
L
40
Y
rary
RNl F
R
/A i ‘
me8 | |
80 |
- J
Code Product Name ‘ Material Molment of Inertia |Moment of Resistance Area ‘ Weight
x| ly Wx Wy
MF 328 80x32 ‘ 6063 9,44 cm® | 53,14 crh 5,90cm® | 13,29 cm® | 8,63 cm? | 2,33 Kg/m
A\uminium
Profile

Industrial Profiles T Slot Profiles
6 8 10

120
20 40 ) 40 20
L] .’l | |
J s (2 WP W,
WA
-
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 21 40x120 6063 |200,5cm’| 257 cm*| 33,1cm?| 13,2.cm’|13,93 cm?|3,76 Kg/m
Industrial Profiles // T Slot Profile A\uminium
Profile
6 8 10 p ~
i
— AT AT
5 —Jo o ® :
AN i /l//
6/8 )¢ Y ® %
Y & ,’, '.( of
40 | 40 | adyifpr
160 q )
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix | ly Wx Wy
MF 416H 40x160 Heavy 6063 738,38 cni'|53,34 cm® | 92,30 cm? | 26,67 cm?® | 31,93 cm?| 8,62 Kg/m

5

*EAAXIZTO MHKOZ KOMHZ 1200 xIA. (FIA 6METPEZ BEPIEZ)



Industrial Profiles / T Slot Profiles
6 8 10

A\uminium
Profile

£2 (
45 MAYPO ANOAIQMENO
—25 | KATOMIN NAPAITEAIAZ :
2 "
K = S ’
e Y =
o‘;/ 10,2 S
M t of Inertia |M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 12 45x45 6063 [11,09 cm® 11,09 cm?| 4,93cm’ | 4,93cm’ | 5.62cm’ | 1,52 Kg/m
6 8 10 Ve
E z 45
33,5
—
o3
6‘\/ 10,2 o
Code Product Name Material HomeHeliinerisil Momentefiteststance Area Weight
Ix ly Wx Wy
M 12/E 45x45 Heavy 6063 | 15,65 cm’| 15,65 cm*| 6,9cm’ 6,9cm®> | 7,63cm? | 2,06 Kg/im
6 8 10
£3 (
A5,
i F 1
-
) “
h.’.i
g
M t of Inertia |M t of Resist
Code Product Name Material oment of tnertia R e Area Weight
Ix ly Wx Wy
M 12/L 45x45 Light 6063 | 6,64 cm*| 6,64 cm? | 2,95cm® | 2,95cm?® | 3,54 cm?|0,96 Kg/m
6 8 10
£3 (
/_- rgﬁj
G
:_?_-;._i \
M t of Inertia |M f Resi
Code Product Name Material oment ot Inertia oment of Resistance Area | Weight
Ix ly Wx Wy
M 03/Z 40x80 Light S8 6063 | 11,54 cmi' | 46,89 crit | 5,77 cm® | 11,72 cm® | 7,07 cm?| 1,92 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZ BEPTEZ)



Aluminium
Profile

Industrial Profiles / T Slot Profiles
6 8 10 0 p
(- | 70
40
Il l
o
g
m t of Inertia |M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 03 40x80 6063 | 49,98 cm | 13,13 cm | 12,49cm’ | 6,56cm° | 7,67 cm? | 2,08 Kg/m
6 8 10 . p
(> 69
40
C 17 -
-
. )
31 i)
@E’) | ,I
g
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 03/B 40x80 Heavy (S8) 6063 | 82,3cm*| 20,9cm? | 17,38cn’ | 9,25cm® | 11,9 cm? | 3,23 Kg/m
6 8 10 -
b . :
T2
| L] |
] [ " :
ey .95
B I R 0 HC
= :%: ! o)
B2
| 5 A
&/ \
M fInertia |M f Resi
Code Product Name Material oment of nertia oment of Resistance Area Weight
IX I)’ WX W)’
M 03/A 40x80 Heavy (S10) 6063 |69,52 cm®| 18,51 cmi' | 17,38 cm® | 9,25 cm® | 10,23 cm?| 2,77 Kg/m
6 8 10 p
L2 o
77,5
45
Y A
KN = )
Ced G
% '
&/ 10,2 \
Code Product Name Material Moment of Inertia | Moment of Resistance Area Weight
Ix ly Wx Wy
M 10 45x90 6063 | 7898 cm | 20,74 cni' | 17,5cm® | 9,2cm*® | 9,63 cm? | 2,61 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)




Industrial Profiles / T Slot Profiles Aluminium
Profile

6 8 10
L2 5
78,5
45 l
"
1w j X
¢ 8 ) xR I O
o
M f Inerti i
Code Product Name Material oment of Inertia | Moment of Resistance Area Weight
Ix ly Wx Wy
M 10/B 45x90 Heavy 6063 |108,14 cni| 28,67 cm | 24,03cm® | 12,74cm® | 12,86 cm? | 3,48 Kg/m
6 8 10
50 s
£2
3§
|102|
-
M t of Inerti M f Resi
Code Product Name Material oment ot inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 46 50x50 6063 | 247cm’ | 245cm | 9,88cm® | 9,88cm® | 10cm? |2,71 Kgim
6 8 10 Ve
LJ 100
85,5
50
: S@
-
M t of Inerti M f Resi
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 101 50x100 6063 | 175cm’ | 452cm’ | 35cm® | 18,1cm® | 16,92cm? | 4,55 Kg/m
6 8 10
£32 (
135

m
C o

45 \_
M f Inertia |M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
IX Iy WX W)’
M 60 45x135 6063 | 41,8cm’ | 324cm? | 6,19cm® | 14,4cm* | 18,3cm? | 5Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 15 45x180 6063 747cm? 56,70m4 83cm? 25,2cm® | 25,1cm? |6,84 Kg/m
6 8 10
/
K2 @
f( \\
7 ' '
-
s -
‘° D‘@C‘“ ‘0-".
\j\j fl:l
-
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 28 60x60 6063 |29,85cm’| 29,85 cm*| 9,9cm? 9,9cm? 8,8cm? |2,36 Kg/m
6 8 10 Ve
\
M fl i i
Code Product Name Material oment of Inertia [Moment of Resistance Area Weight
Ix ly Wx Wy
M 28/B 60x60 Heavy 6063 | 41cm®* | 41cm? | 136cm® | 13,6cm® | 11,06cm? | 3,06 Kg/m
6 8 10
£3 - 4
83,5
30 30
&
M t of Inerti M f Resi
Code Product Name Material oment ot Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 28/X 60x90 6063 | 59,4cm‘ | 122cm’ 26,8cm® | 46,51cm® | 14,7cm? | 4,34 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)




Industrial Profiles // T Slot Profiles
6 8 10

/A\lpuminium

rofile

£ . 4
| o 10 a0
LY A A AV
ey 4 B M @J M| .
| ¥ e
g [ 7'
| i — —
) il L} e
= :-—'l\‘-_ F.- %, - :-;.I P ]
| o - . i
3 iEH{J_
\§
M t of Inerti M t of Resist
Code Product Name Material oI:(nen ° nfy 1a O"\‘;: ° es'svjnce Area Weight
M 28/Y 60x120 6063 | 75,68cm’|265,05cm | 25,22cm’ | 44,17cm® | 17,48cn? | 4,74 Kg/m
60
6 8 10 53.5
£3 4
©
S Bijé P
SNe. *
3 I8 Q S 22
| |
a0 DS B
\§
Moment of Inertia |M t of Resist:
Code Product Name Material ™ Iyl onx)r(l o e5|3vjnce Area Weight
M 02/B 80x80 Heavy (S8) 6063 41cm* | 41cm' 13,6 cm® | 13,6 cm’ | 11,06 cm?|5,39 Kg/m
6 8 10 80
£ 4
N
Code Product Name Material Molinentoflneirtla Mon\:snt ofRem;’;:nce Area Weight
y X
M 02 80x80 6063 | 88,08cm‘ | 88,08cm* | 22,02cm® | 22,02cm’® | 11,91cm?® | 3,23 Kg/m
6 8 10 o
L3 o €
=EE Ce
) I:I \‘\ o & /// |:|
~a -7 > i
L3 2
AP x AP AP
§ oz N
M fl i M f Resi
Code Product Name Material olr:ento nfyma o:w:to esl\s/\';:nce Area Weight
M 02/A 80x80 Heavy (S10) 6063 |127,cm’ | 1271cm’ | 31,78cm’ | 31,78cm’ |17,77cm? |4,81 Kg/m

10

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEZ BEPIEX)



Industrial Profiles // T Slot Profiles /A\luminium
Profile
6 8 10

120

u 110

40 ‘ 40

N/

| .
i ] .
, e % ¢ =
%U Iz d. | & -

M fl i M f Resi

Code Product Name Material oment of Inertia oment of Resistance Area Weight
IX I)’ WX Wy

210,95cm’| 24,3cm’ |6,59 Kg/m

80
70

M 02/X 80x120 6063 | 185,3cm’ | 379,5cm’ | 60,55cm’
6 8 10
L2 s // \
| |
> u
o
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wi Wy
MG 160 80x160 6063 | 242,2cm’| 843,8cm’ | 60,55cm’| 210,95cm’ 30,5cm’ | 8,28 Kg/m
6 8 10 Vs
Lo | u'::
anl =
! -
2% *
L (tJ (T
NG
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wi Wy
M 30/L 90x90 Light 6063 |143,13cm’| 143,13cm’ | 31,80cm’ | 31,80cm’ | 15,20cm’” | 4,12 Kg/m
6 8 10 90
78,5
3
5
M t of Inertia (M f Resi .
Code Product Name Material oment of Inertia oment of Resistance e Weight
Ix ly Wx Wy
M 30 90x90 6063 |192,84cr [192,84cm’ | 42,8cm° | 42,8cm® | 20,67cm?|5,60 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)

11



Industrial Profiles // T Slot Profiles
6 8 10 90

/A\luminium

Profile
78
K2 s
/
-
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 30/A 90x90 Heavy 6063 |220,49cnt | 220,49cnt | 48,9cn? | 48,9cm | 25,31cm?’ 6,86 Kg/m
6 8 10 '
I I T - dl i i /
i
1
1 ; ]
, t g \
M fl i M f Resi
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix |y Wx Wy
MG 100 100 X 100 6063-T5 | 295,4 cm*|295,4 cm* cm® cm’ 25,5 cm® | 6,91Kg/m
6 8 10
‘ ‘ ‘ I 180 /
168
49,3 49,3
KA RY
- \\7/\, ~_ . q/?’
i3
N\
/102 | 45 45 | 45 |
Code Product Name Material Moment of Inertia_|Moment of Resistance Area Weight
Ix ly Wx Wy
M 14/L 90x180 6063 | 1240,6cri | 361,5cm | 137,8cm’ | 80,3cm’® | 37,1cm? (10,04 Kg/m
6 8 10
®« 10,2
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
IX Iy WX W)’
M 14 90x180 Heavy 6063 | 1499cmi | 427.6cmt | 166,5cnt | 95,02cm’ | 46,7cnt 12,69 Kg/m

12

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEZ BEPIEX)



Industrial Profiles // T Slot Profiles A\luminium
Profile

135

u 123 - e

Ij @‘3 D

9 VvV

LG LG (A5

e 45 | 45 | -
M fInertia |M f Resi
Code Product Name Material oment of inertia oment of Resistance Volume | Weight
IX I)’ WX W)’
M 32/A 90x135 6063 |313,64cm’| 653cm’ | 69,18cm’ | 96,74cm’ | 34,42cnt | 9,33 Kg/m
6 8 10
135
‘ I 123
3 D D !
QDD
)
! /m
A 10,2
o J— 45 45 \
Code Product Name Material —oment of Inertia | Moment of Resistance ., o | weight
Ix ly Wx Wy

M 32 135x135 6063 |897,64cm| 897,64cn| 132,91cm’ |132,91cm’ | 44,52cm’ | 12,06 Kg/im

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)

13



Industrial Profiles // Surface Coating Profiles /A\[u
6 8 10 p -

Ld

miniu,n
e

rofi

X B -
N/
|
20
N\ J
M f Inerti i
Code Product Name Material oment of Inertia | Moment of Resistance Volume | Weight
Ix ly Wsx Wy
AL 112 11x20 6063 | 0,13cm* | 0,52cm’ | 0,20cm’ | 0,52cm’ | 1,02 cm? | 0,28 Kg/m
6 8 10
& *MQAEITAl MONO 2 METPH BEPTA
Y -
I
X ! =
L~
- . /
22.5
o
M f Inertia (M f Resi
Code Product Name Material oment of inertia oment of Resistance Volume | Weight
Ix ly Wx Wy
AL 152 15x22.5 6063 | 0,33cm‘ 0,81cm’ | 0,40cm® | 0,72cm® | 1,21 cm? | 0,33 Kg/m
6 8 10 *NMQAEITAI MONO 3 METPH BEPTA
(- | s
(O8]
Y
x] I N
\. . J
40
o
Code Product Name Material NMementiofiinertiaigMomentioliKes sfance Volume | Weight
Ix ly Wx Wy
AL 164 16x40 6063 | 0,69cm® | 3,71 cm' | 0,84cm® | 1,86cm® | 2,45cm’ | 0,66 Kg/m
6 8 10 *EAAXIZTO MHKOZ KOIMHE 1000 xi1A. (FIA 3METPEE BEPIEE)
04,3
Y
(L] | (_n) CJ | Ll)—j
X 1 1 -S
N\~ | N_|_~ 49)
40
80
I
Code Product Name Material —oment of Inertia | Moment of Resistance) .\ 1o | weight
Ix ly Wi Wy
AL 168 16x80 6063 | 1,57cm’ [31,32cm’ | 1,89cm’ | 7,83 cm’ | 4,98 cm? | 1,34 Kg/m

14

*EAAXIZTO MHKOZ KOIMHZ 1000 xIA. (FIA 3BMETPEX BEPIEZ)



Industrial Profiles // Surface Coating Profiles /A\luminium
Profile
6 8 10

(| e
40 )
20
r ‘ q)’bfl
O
6,4
&
o
M t of Inerti M f Resi
Code Product Name Material oment ot inertia oment of Resistance Area Weight
Ix ly Wx Wy
FC 40 10x40 6063 | 3,37cm‘ | 0,20cm' | 1,68cm’ | 0,40cm’® | 2,04cm® | 0,55 Kg/m
8 10 *EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'IA 6METPEX BEPIEX)
£32 p
= 130 e
S - EENC - S
a |
.' M |
8.2 | 30 | 15}
s
o
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
IX Iy WX W)’
M 17 15x120 6063 | 105,7cm’| 2,1cm‘ | 17.6cm*® | 28cm® | 8,6cm? |2,33 Kg/m
6 8 10 *EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZX BEPIEX)
(- | 4
i46
1 40 &) L
! d | B ; = |
X 460 dL
i
i df Fi] 20 18
&
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
AL 146 17,7x146 6063 |108,3cm'| 2,7cm’ 19,2cm®* | 3,2cm® | 9,1 cm? [5,626 Kg/m
6 8 10 *EAAXIZTO MHKOZ KOINMHZ 1200 xIA. (FA 6METPEZ BEPIEZ)
(N [l > | e N
e Nut 8 Nut 5
<2_0.‘ o0 =
¥ G : 5 Y _ L Ne)
LM %@4 - —
12 <
@)
160
o )
M t of Inerti M t of Resist
Code Product Name Material oment of ‘nertia el R L Area Weight
Ix ly Wx Wy
AL 160 16x160 6063 | 3,76cm’ | 304,4cm’ | 4,19cm® | 38,05cm’ | 15,25cm’ | 3,70 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1000 xIA. (A 3SMETPEZ BEPTEZ)

15



Industrial Profiles // Surface Coating Profiles /A\[u
P

6 8 10 Ve ~
145
40 40 40
x| |
3 SIS I <
| |
40 40 R ol ! B ¥
152 L J
M t of Inertia  |M t of Resist
Code Product Name Material oment of nertia oment of Resistance Area Weight
x [y Wi Wy
MF 17 20x152 6063 7,56% ‘350,584 7,353 46,19° | 18,272 | 4,93 kg/m
6 8 10
£2k3 (
180
22,5 45 ‘ 45 ‘ 45 225 r=s
'
i o
' 02
-
M t of Inertia  |M t of Resist
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 16 22,5x180 6063 |570,9cm’ | 11,7cm’ | 63,43cm’ | 10,4cm | 21,1cm’ |5,73 Kg/im
6 8 10
-
L4
140
35 . 70 35
| i’
1
q -
6,4
22 | 9 22
\§ J
M f Inertia |M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx W)'
M 15 ZE 22x140 6063 | 365cm* | 7.2cm’ | 5214cni | 6,54cm® | 19,8cm’ |5,38 Kg/m
6 8 10
p
L4
170
42,5 ) 85 ) 42,5
| —
N p &=
64 |||
26,5 | 117 26,5
\§ J
M t of Inertia |M f Resi
Code Product Name Material olmen ° nf |a oment of Resistance Area Weight
X y Wx Wy
M 20 ZE 27x170 6063 | 852cm* | 16,8cm’ | 100,2cm® | 12,4cm’ | 32,44cnf | 8,79 Kg/m

16

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)

minium

rofile




Industrial Profiles // Radius & Angled Profiles /A\|yminium
Profile

6 8 10
L2 p -
=) ©I®5
“ N S
10 o "
o %
M t of Inertia  |M t of Resist
Code Product Name Material olmen 2 nle - T vt Area Weight
X y Wx Wy
M 63/R 20x20 Radius 6063 |0,65cm' | 0,65cm’ | 0,61cm® | 0,61cm® | 1,42 cm? | 0,39 Kg/m
-~ B
. |
-'S
o %
M t of Inertia  |M t of Resist
Code Product Name Material oment of ‘nertia oment of Resistance Area Weight
Ix ly Wx Wy
M 22/R 30x30 Radius 6063 |2,15cm’ | 2,15cm’ | 1,30cm® | 1,30cm?® | 2,78 cm? | 0,75 Kg/m
6 8 10 -~
‘ -
M t of Inertia  |M t of Resist
Code Product Name Material olmen 2 nle - oment of Resistance Area Weight
x y Wx Wy
M 21/R 45x45 Radius 6063 | 85cm’ | 85cm* | 3,38cm® | 3,38cm® | 4,46 cm? | 1,21 Kg/m
6 8 10 - ~
(| 40
N\ - N
2 o7 ‘!
m |14 h'
8,2
‘H o J
M t of Inertia  |M f Resi
Code Product Name Material olmen ° nT |a oment of Resistance Area Weight
x y Wx Wy
M 39/A 40x40 (45°) 6063 | 44cn | 44cmt | 1,90cm® | 1,90cm’ | 3,43cm? | 0,93 Kg/m
*EAAXIZTO MHKOZ KOIHZ 1200 xiA. (FA 6METPES BEPTEZ)

17



Industrial Profiles // Radius & Angled Profiles /A\|yminium
Profile

6 8 10
14
£J P
2F 5
an y
® | L]
. L o G o)
M t of Inerti M t of Resist
Code Product Name Material oment of ‘nertia el R L Area Weight
Ix ly Wx Wy
M 83/R 80x80 Radius 6063 |48,43 om’ 48,43 om’ 12,10 cm?® | 12,10 cm?® | 10,23 cm?| 2,77 Kg/m

A\uminium
Profile

6 8 10 Ve
(|
Yo}
3 g
& 8,2
® N
M f Inerti i
Code Product Name Material oment of Inertia [Moment of Resistance Area Weight
Ix ly Wx Wy
M 22-K 30x30 Closed 6063 | 3,17cnd | 3.18cni | 2,05cm’ | 2,05cm’ | 3,37cmi | 0,92 Kg/m
6 8 10
(|
-
N
M f Inerti i
Code Product Name Material oment of Inertia [Moment of Resistance Area Weight
Ix ly Wx Wy
M 23-K 30x60 Closed 6063 |21,55cm*| 590cm* | 7,18cm® | 3,93 cm® | 5,92 cm? | 1,60 Kg/m

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)

18



Industrial Profiles / Closed Profiles
6 8 10

minium

rofile

Ay

-

K3 .
o * M @9 “
? ;: "‘
j s ‘
o
M fl i M f Resi
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 04-K 40x40 Closed 6063 | 7,24cm’ | 7.27cm’ | 352cm’ | 352cn?® | 4,6cm? |1,25 Kg/m
6 8 10
E ] 45 e
32,5
< 7
J. } Pl
™
P N
) T |
(\g:/ 10,2 9
M fl i i
Code Product Name Material oment of Inertia |[Moment of Resistance Area Weight
Ix ly Wix Wy
M 05-K 45x45 Closed 6063 | 11,78cm* | 11,78cm* | 5,24cm® | 5,24cm’ | 5,90cm’ |1,61 Kg/m
6 8 10
(> © . -
40
o
M fl i M f Resi
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 03-K 40x80 Closed 6063 | 50,9cm' | 12,9cm’ | 12,57cm | 6,23cm’ | 7,7cm® | 2,08 Kg/m
6 8 10
3 - ' - s
45 ol
-
| ke
ol
=
| !
= N
M fl i M f Resi
Code Product Name Material oment of Inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 09-K 45x90 Closed 6063 | 83,69 cm®| 22,22 cm* | 18,59 cm® | 9,87 cm® | 10,01 cm?| 2,74 Kg/m

19

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (F'A 6METPEZX BEPIEX)



Industrial Profiles / Slide Profiles A Ingirilil.JllTl

8
|1 4

2,8

2,88

8
85 7

R ,‘7
£ ; e
o 2 s — ;
5 | .
\
37
Code Product Name Material | Moment of Inertia_|Moment of Resistance| ,, o | weignt
Ix ly Wx Wy
MG 37 SLIDE PROFILE 18 X 37 | 6063 | 1,37 cm® | 4,15 cm om® em® | 3,37cm? 0,89 Kg/m
6 8 10
(- | e
3,7
3,65
8,5 Qi\
i 3
e} ‘@ < -
8 — - > \_
e
Code Product Name Material | Moment of Inertia | Moment of Resistance| ,, o | weignt
Ix |y Wx W)’
MG 28 SLIDE PROFILE 18 X 28 | 6063 | 1,09 cm® | 2,24 cm em® om® | 3,37cmd |0,77 Kg/im
Industrial Profiles / Guidance Profiles A\luminium
Profile
XQPIZ TPYNEZ
Bdpog | Alootdoeig (mm) Mrkog: 6000 xiAlooTd

gD| Kwdikég

kg/m A H H1| B |@d1] C1| C2 |[KDIN 6912
12| MDP12 0,69 40 | 22:01| 5 |29 (45|50 | 75| M4x16

16| MDP 16 0,84 4512601 5 | 33|55 50 100| M 5x20

20, MDP20 1,23 52 | 32'0,1 58| 37 |6,5| 50 100, M 6x25

25| MDP25 1,44 57 | 3601 6 | 42 |6,5| 60 120, M 8x30

30, MDP30 2,00 69 /420,15 7 | 51 |8,5| 75 |150| M 10x35

40| MDP40 2,60 73 /500,15 8 | 55| 9 |[100/200, M 10x40
* ZTA TTAPATTAvVW TTPo@iA dev TrepIAauBdvovTal ol dSoveg

*EAAXIZTO MHKOZ KOIMHE 1200 xIA. (FIA 6METPES BEPTEX)

20



Industrial Profiles / Conveyor Profiles Auminium
Profile
6 8 10 23

(> | 4
K
Ol g
N
N
T
2 <! o
—y ™M
S
o
i ) o
M fl i i
Code Product Name Material oment of Inertia | Moment of Resistance Area Weight
Ix ly Wx Wy
M 24/D 23x75 6063 3,11cm’* | 26,03cm® | 3,65cm’ 3,65cm® | 4,86cm” | 1,32 Kg/m
6 8 10
(> | 4
127
‘ 64 225
o 285 ( 44 ( [E
| C CJ
82|
o
M t of Inerti M t of Resist
Code Product Name Material oment of ‘nertia v Area Weight
Ix ly Wx Wy
M 29 23x127 6063 | 114,6cm’ | 55cm' | 17,47cm | 4,.8cm® | 7,4cm? 2,01 Kgim
6 8 10
L2 (
175_ 175 423 277
1.3 B
: vyl i
iy | B s B
23]
105
-
M fl i M f Resi
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wx Wy
M 29/A 25x105 6063 | 87,1cmi | 24cm® | 15,07cnt | 1,49cmi | 7.45cmt | 2,01 Kg/m
6 8 10
(| 4 w
3295 _ 185 62.7 18.5_17.35

HL.
.
I

i b
150
& %
M t of Inerti M f Resi
Code Product Name Material oment of fnertia oment of Resistance Area Weight
Ix ly Wx Wy
M 29/B 25x150 6063 | 87,1cm | 2,4cm’ | 1146¢m | 1,9cmt | 7.45cnf | 2,90 Kgim

*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZ BEPTEZ)
21



Industrial Profiles Roller/Conveyor/Panel A\ . .
Floor cover Profiles é—'m]'r;";'m
6 8 10
(> N
A.
-___.-“'
. = a
o -J:‘::
o
Gy
- J
M fl i i
Code Product Name Material oment of Inertia [Moment of Resistance Area Weight
Ix ly Wx Wy
AL 40 RL 40x40 Roller Profile 6063 | 40,35cm' | 28,35cm | 20,07cm® | 14,05cm? | 4,98cm? | 1,36 Kg/m
25 EMIOYMHTEZX AIAZTAZEIZ KATOIMIN NMAPAITEAIAZ
6 8 10 ‘
Ve
= i 4.&
0 of
R 2|
o
44,7 \_
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wx Wy
M 24 45x75 Conveyor 6063 |23,46cm’ | 45,80cm’ | 10,7cmt | 9.21cm’ 9,42cm’ |2,55 Kg/m
6 8 10 22,5
K2 8.2
/
-
%ﬂ
o) a
<t
Q .
M fl i M f Resi
Code Product Name Material oment of inertia oment of Resistance Area Weight
Ix ly Wx Wy
PP 45 Panel Profile 22,5x45 6063 | 2,95cm* | 8,15cm* | 0,42cm’ | 0,82cm’ | 4,63cm’ | 1,25 Kg/m
*EAAXIZTO MHKOZ KOIMHZ 1200 xIA. (FIA 6METPEZ BEPIEX)
6 8 10 Y ) Ve
(-> | — (|
s K
—0
|/
7.5 073
30 N
Code Product Name Material Moment of Inertia |Moment of Resistance Area Weight
Ix ly Wox Wy
AL 30 SG Cover Profile 30x30 6063 | 2,48cm’ | 2,91cm’ 1,58cm’ 1,83cm® | 3,13 cm® | 0,85 Kg/m

22

*ENAXIZTO MHKOZ KOMHZ 1000 xi1A. (FIA SMETPEZ BEPTEZ)



Corner Connectors(Plain) /A\luminium

Profile
6 8 10
[ Ji] >
4 ) 4 )
o J o J
Code Profile External Product Name A B (o3 D H Material Weight
M 53 30x30 Straight Corner Connection 28 |22.5| 40 | @6 | 7 | Aluminium 21gr
M 53/C 40x40 Straight Corner Connection| 37 | 37 | 20 |@8.2| 6.5 | Aluminium 39 gr
M 53/A 45x45 Straight Corner Connection| 42 | 42 | 22.5|@8.2| 7 | Aluminium 56 gr
M 53/B 80x80 Straight Corner Connection| 76 | 20 | 76 |@8.5| 8,3 | Aluminium 206 gr
Connection Accessories // Angles A\uminium
6 3 10 Profile
E2 E32 L4
4 = ) 4 I
R .
a
y o -
lole S L. R
L -
- J - %
Code Product Name A B C H L oD Material Weight
MF 20 Angle 20x20x38 (40x20) 20 | 38 | 10 3 20 5.5 | Aluminium 12 gr
@ MF 36 Angle 30x30x58 (30x60) | 30 | 57 | 15 | 5 | 30 7 | Aluminium | 40gr
MF 40 Angle 40x40x76 (40x80) 252 | 48 [125] 4 25 7 Aluminium 86 gr
MF 45 Angle 45x45x86 (45x90) 45 | 86 |225| 6 | 45 9 | Aluminium | 112gr

23



6 8 10

[ JY N | N |
K \ ( g 0 \
ﬂ J
- J \ J
Code Prof External Product Name H w Material Weight
M 54/K 20-25 Wide Corner Connection 20 | 17.5 | 5 | Aluminium | 155gr
M 55/G 30x30 Wide Corner Connection 28 | 28 |6.5| Aluminium | 41.5gr
M 55/H 40x40 Wide Corner Connection 37 | 37.7 Aluminium | 49 gr
M 55/H8 40x40 Wide Corner Connection S8 37 | 37.7 Aluminium | 49gr
M 54/G 45x45 Wide Corner Connection 44 | 43 Aluminium | 75gr
M 54/F 60x60 Wide Corner Connection 57 | 57 | 6.5| Aluminium | 98gr
M 54/ 80x80 Wide Corner Connection 78 | 77 | 10 | Aluminium | 226 gr
M 54/1 8 80x80 Wide Corner Connection S8 78 | 77 | 10 | Aluminium | 226 gr
M 52 90x90 Wide Corner Connection 84.7|86.5 | 9 | Aluminium | 366 gr
M 96/K 20-25 Wide Corner Connection Cover - - - Plastic 2gr
M 97/G 30x30 Wide Corner Connection Cover - - - Plastic 4gr
M 97/A 40x40 Wide Corner Connection Cover - - - Plastic 8ar
M 96/G 45x45 Wide Corner Connection Cover - - - Plastic 10 gr
M 97/B 60x60 Wide Corner Connection Cover - - - Plastic 8gr
M 97/C 80x80 Wide Corner Connection Cover - - - Plastic 27 gr
M 96/D 90x90 Wide Corner Connection Cover - - - Plastic 24 gr
Corner Connectors M
Fasteners /A
Y fnamtatoes Auminium
6 8 10
[ | N |
4 N 4 N
¥
i
Iy i
g M)
o
N\ J N\ J
Code Prof External Product Name A D Material Weight
M 55 30x30 Corner Connection Narrow @6.5 | Aluminium 54 gr
M 54 45x45 Corner Connection Narrow 10 | @8.5 | Aluminium 59 gr
G 45 ggigg Corner Connection Narrow Cover | - - Plastic 759r

24



ro 1 e

6

8 10

[\ || > |

5
%
i
Code Prof External Product Name D Material Weightl
M 120 40x40 45° Angle Corner Connector | @8.5 | Aluminium | 86 gr
M 121 45x45 45° Angle Corner Connector | @10 | Aluminium | 98 gr
M 123 30x30 45° Angle Corner Connector | @8.5| Aluminium |33.5 gr
M 125/S 25x25 40/45° Angle Corner Connector | @6.5 | Aluminium |30.1 gr

Connection Accessories // 45° Angle Connector A\uminium
Profile

6 8 10
[ J{f N ||
4 N 4 N\
ﬁ-"-'/. 2 5
= # "
i it | 5
R -
o J o J
Code Product Name A B C H @D Material Weight
MF 42 Angle Connector 20x40 S6 40 | 20 | 16 5 8.5 | Aluminium | 19.2 gr
MF 60 Angle Connector 30x60 S8 60 | 30 [165| 8 8.8 | Aluminium | 41.2gr
MF 21/SS | Angle Connector 40x80 S8/10| 80 | 40 | 18 8 8.8 | Aluminium | 166.2 gr

25




Corner Connectors (Long) And End Covers
6 8 10

[ Ji] >

4 ) 4 )

N\ J N\ J
Code Prof External Product Name A B Malzeme | Weight

M 54/C 30x60 Corner ConnectionLong | 27.2| 57 | 6.5 | Aluminium | 48gr

M 54/A 40x80 Corner Connection Long 375! 78 [10.5| Aluminium 114 gr

M 54/U 45x90 Corner Connection Long 42 | 84.2 Aluminium | 142 gr

M 54/P 30x60 Corner Connection Long Cover | - - Plastic 10 gr

M 54/B 40x80 Corner Connection Long Cover | - - Plastic 10 gr

Adjustable Angle Corner Bracket

6 8 10
£2 2
s
it J%
3 (DS
PRIRN
1A RN
LY L Ny
r. - ) % E?L 5
< Ve
-
Code Product Name A B Cc D Malzeme | Weight
MF 3035 | Adjustable Corner Bracket30x35 | 30 | 40 | 28 |@6.5| Aluminium | 21gr
MF 4045 | Adjustable Corner Bracket40x45 | 40 | 50 | 38 |@6.5| Aluminium 44 gr

6 8 10

(N i |
4 I 4 I
g J g J
Code Prof External Prof External A B D Material | Weight
M1/T 40x40 A Triangle Corner Connection 36 | 36 |@8.5| Aluminium| 56 gr
M 2/T 40x40 A Triangle Corner Connection Cover | 40 | 40 - Plastic 7gr
M 3/T 40x40 Square Corner Connection Cover | 40 | 40 - Plastic | 13.5gr

26



Radius Corner Connectors

Fasteners /A
— and End Covers (" IIMINIuM
6 8 10
b Jif N |l
4 7 " 7
. w I >
NG J N J
Code Prof External Prof External A C D | Material |Weight
M 56/R 20x20 Radius Corner Connection 18.5| 10 | 6.5 | Aluminium | 12 gr
M 55/R 30x30 Radius Corner Connection 28 | 15 | 8.5 | Aluminium | 42 gr
M 54/R 45x45 Radius Corner Connection 42 [22,5/10.5 | Aluminium | 136 gr
M 96/C 20x20 Radius Corner Connection Cover | 20 | 3 - Plastic 2gr
M 96/A 30x30 Radius Corner Connection Cover | 30 | 3 - Plastic 49r
M 96/B 45x45 Radius Corner Connection Cover | 45 | 3 | - Plastic | 14gr
M 87/A 20x20 Square Corner Connection Cover | 20 | 2 - Plastic 3gr
M 87/B 30x30 Square Corner Connection Cover | 30 | 3 - Plastic 8 gr
M 87/C 45x45 Square Corner Connection Cover | 45 3 - Plastic 22 gr
Cutting Bush
Fasteners // . A umlnlum
senes with Shank
10 e N e ™
2
3x 120" = |
o 3
o) R
!
-
W
Ma
= 0107
NG J N J
Code Product Name A B C |[gD | @d| L M Material | Weight
MF 801 Cutting Bush with Shank 10 |10.7 | 9.7 | 16 |10.7 | 9.7 | 16 |8 (31207 Steel zinc | 3.8 gr

LJ

u g N
38 14
"
r-'_+'_‘1-
= “.1&
]
[
Tgw S
19 9.9
- J
Code Product Name A B C M | @d | L | Material | Weight
MF 38 Direct Connector B Set S 8/10 | 9.9 | 19 14 6 |Sw3| 38 |Steelzinc| 364gr

27



Fasteners // Head Bolts A\luminium
Profile
6 8 10
[ i < )| |
4 I 4 I
- J N J
Code - | Product Name M A B oD Material Weight
M 44/C Slot 6 Head Bolt M6 | 35 | 20 | 105 8.8 Steel 4.5gr
M 44/B Slot 8 Head Bolt M8 | 52 | 25 16 8.8 Steel 13 gr
M 44 Slot 10 Head Bolt M10| 6 30 | 175 | 8.8 Steel 21 gr
Fasteners // Inner Slot Connector
6 8 10
[ Jif |
f N
.' (1
£ |
N J
Code [ | Product Name M | A| B | C |Material |Weight
M 86/B Slot 8 | Inner Slot Connector | M8 | 15 | 26.4 | 12.5 Steel 15 gr
M 86/J Slot 10 | Inner Slot Connector |M10| 19 | 30 | 17.5 Steel 27 gr

28



ro 1 e

6 8 10
£
4 B I 4 )
oL
‘I‘
N H
- J o J
Code Product Name A B N H M L | Material | Weight

MF 1S80 | Screw Connector | S8 Double | 35 17 9 10 8 | 35 |Steel Zinc | 20.7 gr

>

4 ) 4 N
B
r :
1

=g

4+

- J - J

Code Product Name A B N H M D | Material | Weight

MF 1S81 Screw Connector | S8 Single [255| 17 8 [10.2| 8 | 8.5|SteelZinc| 8.64gr

29



A - -
Do Z R
6 8 10

4 I 4
22
8 =
L=
s ~ &
# Lo
[T.]
M i
- J -
Code Product Name A B C D M d L | Material | Weight
MF 322 Modular Nuts M3 S8 Ball 0.8 135 |78 |175| 3 | 7.2 | 22 |Steel Zinc| 10.9gr

uminium
Profile
6 8 10
4 I 4
&
)
~ i - o
& J - J
Code Prof External Product Name A D R Material Weight
M 115 30x30 Three Corner Cube Connector | 30 |©@20,5| 2 | Aluminium | 38,5 gr
M 117 40x40 S8 Three Corner Cube Connector | 40 | @26,6| 4 | Aluminium | 94,5gr
M 117/S10 40x40 S10 Three Corner Cube Connector | 40 | @26,6| 4 | Aluminium | 945 gr
M 116 45x45 Three Corner Cube Connector | 45 | @26,6| 4 | Aluminium | 151 gr
6 8 10
- D - ~
o J o J
Code Prof External Product Name A D R Material Weight
M 115/2 30x30 Two Corner Cube Connector | 30 | @18 | 9 | Aluminium | 44,26 gr
M 117/2 40x40 S8 Two Corner Cube Connector | 40 | @24 |8,5| Aluminium | 106,40 gr
M 117/SD 40x40 S10 Two Corner Cube Connector | 40 | @24 (12,5 Aluminium | 104,88 gr
M 116/2 45x45 Two Corner Cube Connector | 45 | @24 | 13 | Aluminium | 168,13 gr

30



ggedus Ao
Profile
6 8 10
£33 K4
4 ) )
- J J
Code (- | Product Name M | B W D H|A Material Weight
M 47/A Slot 6 Jagged Nut M4 |57 114/ 41|12| 56| 8.8 Steel 1.2 gr
M 47/S Slot 6 Jagged Nut M5 | 57114/ 41]1.2|56 8.8 Steel 1gr
M 42/B Slot 8 Jagged Nut M4 | 79| 16 |63 | 2 | 7.7| 8.8 Steel 36gr
M 42/A Slot 8 Jagged Nut M5|79| 16 |63 | 2 |7.7| 8.8 Steel 3.3gr
M 42 Slot 8 Jagged Nut M6 |79 16 |6.3| 2 | 7.7| 8.8 Steel 3gr
M 43/B Slot 10 Jagged Nut M4 |10 | 19 |87 | 3 |9.8| 8.8 Steel 7.59r
M 43/A Slot 10 Jagged Nut M5|10| 19 |87 | 3 |98 8.8 Steel 7gr
M 43 Slot 10 Jagged Nut M6 | 10 | 19 |8.7| 3 |9.8| 8.8 Steel 6.5gr
M 41 Slot 10 Jagged Nut M8 | 10| 19 87| 3 |98 8.8 Steel 5.5gr
M 42/SS Slot 8 Jagged Nut Inox M6 | 7.9 | 16 | 6.3 | 2 | 7.7 | Stainless Steel| 2.7 gr
M 43/SS Slot 10 Jagged Nut Inox M6 | 10 | 19 | 8.7 | 3 | 9.8 |Stainless Steel| 5.9gr
M 41/SS Slot 10 Jagged Nut Inox M8 | 10 | 19 | 8.7 | 3 | 9.8 |Stainless Steel 5gr
Profile
6 8 10
(W || N> |
4 )
- J
Code B4 Product Name D I8 M H| W) B Material Weight
M 40/B Slot 8 M6x20 Hammer Screw Nut - 185| 6 |68 [165| 7,7 8.8 Steel 7.59r
M 40/G Slot8 | M6x25 Hammer Screw Nut - |235| 6 |68 |165]| 7,7 8.8 Steel 8gr
M 40/C Slot 10 | M8x25 Hammer Screw Nut - 17 8 |97 [195] 8,3 8.8 Steel 14 gr
M 40/A Slot 10 | M8x30 Hammer Screw Nut - 27 | 8 |97 [195] 8,3 8.8 Steel 16 gr
M 40/D Slot 10 | M8x40 Hammer Screw Nut - 37 8 |97 [195] 8,3 8.8 Steel 18.5gr
M 40/F Slot 10 | M8x60 Hammer Screw Nut - 57 8 |97 [195]| 8,3 8.8 Steel 25.5¢r
M 40/E Slot 8 Round Head Bolt @13 - - - 9,8 8.8 Steel 3gr
M 40/1 Slot 10 Round Head Bolt @21 - 8 - o127 8.8 Steel 9,5¢gr

31



Ao
Profile

6 8 10 e ™ e N
(b Ji < Ji{ |
zi’;
- J - %
Code (- | Product Name M B L H Material Weight
M102T Slot 6 Small Nuts M4 | 6 | 10| 5 | 88Steel | 25gr
M102R Slot 6 Small Nuts M5 | g | 10 5 | 8.8 Steel 29r
M102 Z Slot 6 Small Nuts M6 | 6 | 10 5 | 8.8 Steel 2gr
M102 P Slot 8 Small Nuts M4 | 7.8 | 16 6 8.8 Steel 9gr
M102 L Slot 8 Small Nuts M5 | 78| 16 6 8.8 Steel 8.59r
M102 F Slot 8 Small Nuts M6 | 7.8 | 16 6 | 8.8 Steel 8.5gr
M 102 E Slot 8 Small Nuts M8 | 78| 16 | 6 | 88Steel | 7.5gr
M102D Slot 10 Small Nuts M4 | 10.1| 20 | 10,5 8.8Steel | 21.5gr
M102C Slot 10 Small Nuts M5 | 10.1] 20 | 10,5 8.8 Steel 20.5gr
M 102 B Slot 10 Small Nuts M6 | 10.1| 20 | 10,5 8.8 Steel | 19.5gr
M102 A Slot 10 Small Nuts M8 | 10.1| 20 | 10,5/ 8.8Steel | 18.5gr
MF 101 Slot 10 Small Nuts M10 10.6 | 8.8 Steel 209 gr
rofile
)
6 8 10
£a
- J
Code (- | Product Name M| B | W| L H | Material | Weight
M 105 Slot 6 Modular T SlotNut | M4 | 6.1 | 11| 16 | 55 | 8.8 Steel 49r
M 105/A Slot 6 Modular T Slot Nut M5 | 61| 11| 16 | 55 | 8.8 Steel 49r
M 105/B | Slot6 Modular T Slot Nut M6 | 6.1 | 11| 16 | 55 | 8.8 Steel 3gr
Profile
4 ] N 4 I
10 1y
. ey

Code |- | Product Name M B w L H Material Weight

M 107 D | Slot10 | Vertical greatjointnut | M8 |45.5|19.6| 154 |10.05Carbon steel| 110 gr

32




Fasteners // Pin T-slot Nut A\luminium
Profile
8
(|
4 o Mg N / N
{&.--\ 7.8
B B
(R} . F et ;’__. s
T L3 571 ’
o - phiiies : X
===
q o § {| ==
| | WM&
\_ J 1.V J \_ J
Code |- | Product Name M B w L A B © H Material Weight
MF S13 | Slot8 | Pin T-slot Nut 6 | 16 | 17 | 40 | 25 | 16 | 29 | 96 | 88Steel | 3569r
Fasteners // Long Nuts A\ uminium
Profile
6 8 10
N i b | |
/ N
NG J
Code u Product Name M B w L D3 D2 D1 H Material Weight
M 107 A | Slot6 Long Nuts M5 6 10 | 100 | 20 | 30 | 10 5 | 8.8 Steel 29 gr
M107 B Slot 8 Long Nuts M6 7,8 16 120 35 35 7,5 6 8.8 Steel 77.59r
M 107 C | Slot10 Long Nuts 40 15 | 10,5 | 8.8 Steel 150 gr
Fasteners / Spring Slot Nuts A\ um|n|um
rofile
LJ LJ
/ N / N
N J N J
Code | | Product Name M A B (& L Material Weight
M 45/K Slot 8 Spring Slot Nut M4 8 13 5.5 16 8.8 Steel 3.8 gr
M 45/C Slot 8 Spring Slot Nut M5 8 13 5.5 16 8.8 Steel 4gr
M 45/B Slot 8 Spring Slot Nut M6 8 13 55 16 8.8 Steel 55¢r
M 45/D Slot 8 Spring Slot Nut M8 8 13 55 16 8.8 Steel 45gr
M 45/H Slot 10 Spring Slot Nut M4 10 15 75 20 8.8 Steel 12 gr
M 45/F Slot 10 Spring Slot Nut M5 10 15 75 20 8.8 Steel 11.5gr
M 45/A Slot 10 Spring Slot Nut M6 | 10 15 | 75 | 20 8.8 Steel 11.5gr
M 45 Slot 10 Spring Slot Nut M8 | 10 15 | 75 | 20 8.8 Steel 10.5 gr

33



Fasteners // Puller Type Connections /A\|yminium
Profile
8 10 ~ - N
f 'r
(6]
i
_— B —
o J - %
Code | | Product Name A | B | C|D d | Material | Weight
M 85/G Slot 8 Angled Puller Type Connection 12.5] 15 9 12 | 6.8 Steel 22.5¢r
M 85/C Slot 10 Angled Puller Type Connection 26 | 17 |115| 15 | 85 Steel 53 gr
8 10 e ~ - N
[ || | B
2) - r
e <
i
— B -
o J - %
Code (- | Product N&laight A | D d | Material
M 85/F Slot 8 Puller Type Connection With Joint 125/ 12 | 6.8 Steel 32.5gr
M 85/B Slot 10 Puller Type Connection With Joint 26 | 15 | 85 Steel 84 gr
8 10 e ~ - N
£33 ) -
] !
s ~ B | -
A, | [ :
g .7 » #J,-t... J !
& ok
A
o - ——
—
o J - %
Code (> | Product Name A | B|C|D d | Material | Weight
M 85/A Slot 8 Plain Puller Type Connection 29 | 21 |16 | 12 | 6.8 Steel 24.5gr
M 85 Slot 10 Plain Puller Type Connection 455| 31 | 20 | 15 | 85 Steel 54 gr
8 10 e ~ - N
L4 o
1
]
=9 B [
. A CE—
o J - %
Code [ | Product Name A | B | D | d | Material | Weight
M 85/D Slot 10 Head Puller Type Connection 68 | 48 | 15 | 8.8 Steel 80.5gr

34



Profile

6 8 10
£2 L3 k4
4 N 4
' )
\_ J \_
Code | | Product Name M | A B | C | L | H Material | Weight
M 106 Slot 6 Hidden Corner Connections M5 | 9 6 | 48 |13.5| 20 Alloys 6 gr
M106 A Slot 8 Hidden Corner Connections M6 | 13 | 8 | 6.7 | 21| 30 Alloys 18.5gr
M106 B Slot 10 Hidden Corner Connections 84 | 27 | 40 Alloys 41 gr
Fasteners / Moving Joints A umInIUITl
rofile
LJ LJ
4 N N
o J
Code Product Name A | B D H | Material Weight
M 36 30x30 Moving Joint 30 | 30 | @85 |22.5| Zinc 133 gr
M 37/A 40x40 Moving Joint 40| 40| @85 |30 | zZinc 158 gr
M 37 45x45 Moving Joint 45 | 45 | @10.5 | 30 Zinc 309 gr

rofile
6 8 10
(|
4 N 4 N
oS 85y
AEN MMAINOYN ZE
OAA TA MPOODIA
M SLOT 10
\ J & J
Code [ | Product Name M E Material Weight
M 46/F Slot 10 Square Nut M4 5 Steel 13.5¢r
M 46/H Slot 10 Square Nut M5 5 Steel 13 gr
M 46/E Slot 10 Square Nut M6 5 Steel 13gr
M 46/I Slot 10 Square Nut M8 5 Steel 12.gr
M 46/D Slot 10 Square Nut M10 5 Steel 10.5 gr

35




A\luminium
Profile

Fasteners // Levelling Feet Plates
6 8 10  , N -
(N 1| |
S
Prof n .
Code External Product Name M A L B H Material Weight
M 81/C 30x60 | Levelling FeetPlate | M6 | 30 | 60 | 30 | 16 | Aluminium 45 gr
M 81/B 40x80 | Levelling FeetPlate | M10 | 40 | 80 | 40 | 15 | Aluminium 76 gr
M 81/A 45x90 | Levelling FeetPlate | M12 | 45 | 90 | 45 | 15 | Aluminium | 100 gr
M 81/F 60x60 | Levelling FeetPlate |M12 | 30 | 60 | 60 | 15 | Aluminium | 119gr
M 81/G 80x80 | Levelling FeetPlate |M12 | 40 | 80 | 80 | 15 | Aluminium | 217.5gr
M 81 90x90 | Levelling FeetPlate | M16 | 45 | 90 | 90 | 15 | Aluminium 195 gr

6 8 10

.

&

4 N 4
(> | -
i
w0
-
!
\§ J \§
Code Product Name Weight
PE 33 MpooTateuTikG EAAOTIKO TTPOPIA 40x40 - 45x45 eviaia emmigaveia | 210 gr/m
6 8 10 - proe ~ -
i ! '
¢_.. i
. —ici— J .
Code Product Name
PE 54 Mpo@ih TTpooTaTeUTIKOU €AAOTIKOU 45x45 Tpeig TTAEUPEG
e 2 N e
E &"‘f:ff ]
e .~
| | .______-
4 -
D A g
! FE%&J _I. e
[ | - -
| I'L.II.-' e
=™ Y, -
Code Product Name Weight
SW 15 MpowiA TrpocTaTeuTikoU Aapapivag 1,00mm ewg 1,50mm 38,28 gr/im
SW 25 Mpo@iA TTpooTaTeuTIKOU Aapapivag 2,00mm ewg 2,50mm 76 gr/m

36



Fasteners / 90° Connection Part A\luminium
Profile
6 8 10
/ N
[ i v || | % _
o Q £ r ‘
SN e b
Q e s r
e
4 L=
B —
- ° Y, - J
Code AT Product Name A| c ] Material Weight
External 9
M 034/A 20x20 90° Connection Part 9.3 45 M4 Steel 17.5gr
M 032/A 25x25 90° Connection Part 123 | 45 M5 Steel 30 gr
M 034 30x30 90° Connection Part 14 | 45 M6 Steel 33.5gr
M 032 40x40 90° Connection Part 16.5| 61.5 M8 Steel 52.3 gr
M 035/T 45x45 90° Connection Part 195 | 55 M8 Steel 71gr
Fasteners // 120° Connection Part A umlnlum
rofile
6 8 10 -~ N s B
[ i b | |
= ‘h
S,
N J N J
Code el Product Name A C M Material Weight
External
M 35/G 20x20 120° Connection Part 93| 41 | M4 Steel 17 gr
M 35/E 25x25 120° Connection Part 12.3| 40 M5 Steel 27 gr
M 35 30x30 120° Connection Part 14 | 54 M6 Steel 43 gr
M 35/X 40x40 120° Connection Part 16.5| 54 M8 Steel 49 gr
M 33 45x45 120° Connection Part 19.5| 61 M8 Steel 92 gr
Fasteners // 135° Connection Part A um|n||_|m
rofile
6 8 10 -~ N s B
L2 £33 K4
S,
N J N J
Code i) Product Name Al c|m Material Weight
External g
M 34/D 20x20 135° Connection Part 93 | 385 | M4 Steel 16 gr
M 32/B 25x25 135° Connection Part 123 | 395 | M5 Steel 27 gr
M 35/A 30x30 135° Connection Part 14 51 M6 Steel 41 gr
M 33/X 40x40 135° Connection Part 165 | 52 M6 Steel 48 gr
M 33/A 45x45 135° Connection Part 195 | 63 M8 Steel 88 gr

37



6
(W

(>

4

A UITlInIUITl

Profile

Ve

-

-%
I

- I J \
Code Eth’t;?:\al Product Name A B @D K Material Weight
M 051 20x25 | 2 Way ConnectionPlate | 75 | 75 | 5 3 Zinc 96.5 gr
M 72/A 30x30 | 2 Way ConnectionPlate | 80 | 80 | 6.5 3 Zinc 119 gr
M 56/L 40x40 | 2 Way Connection Plate | 110 | 110 | 6.5 3 Steel 218 gr
M 56 45x45 | 2 Way Connection Plate | 120 | 120 | 85 | 3 Steel 256 gr
M 76 45x90 | 2 Way Connection Plate | 180 | 180 | 8.5 4 Steel 850 gr
M 76/L 80x80 | 2 Way Connection Plate | 200 | 200 | 6.5 4 Steel 990 gr
M 66 90x90 | 2 Way Connection Plate 8.5 5 Steel 1.782 gr
Fasteners / 3 Way Connection Plates /A um|n|um
rofile
4 )
[ ] E———
— - = =
- = —_—
. @
. J \_ I [ ' )
Code Exlzt';?rf\al Product Name A | B |@D | K Material Weight
M 051/A 20x25 3 Way Connection Plate | 75 | 86 5 3 Zinc 109.5 gr
M 72/B 30x30 3 Way Connection Plate | 90 | 150 | 6.5 3 Steel 2215gr
M 72/L 40x40 3 Way Connection Plate | 110 | 150 | 6.5 3 Steel 280 gr
M 56/A 45x45 | 3 Way Connection Plate | 120 | 160 | 85 | 3 Steel 322 gr
M 76/A 45x90 | 3 Way Connection Plate | 170 | 130 | 85 | 4 Steel 622 gr
M 66/L 80x80 3 Way Connection Plate | 160 | 220 | 6.5 4 Steel 900 gr
M 66/A 90x90 | 3 Way Connection Plate 85 | 5 Steel 1.581 gr
Fasteners // 4 Way Connection Plates /A\luminium
Profile
1] )
- -
L]
o
L]
-
L)
N\ J \_ [ I )
Code Exlzégrflal Product Name A | B | @D K Material Weight
M 051/B 20x25 | 4 Way Connection Plate | 130 | 130 | 5 3 Zinc 248 gr
M 72/C 30x30 | 4 Way Connection Plate | 150 | 150 | 6.5 | 3 Steel 334 gr
M 72/J 40x40 | 4 Way Connection Plate | 150 | 150 | 6.5 | 4 Steel 370 gr
M 56/B 45x45 4 Way Connection Plate | 180 | 180 | 8.5 4 Steel 689 gr
M 66/J 80x80 4 Way Connection Plate | 200 | 200 | 6.5 4 Steel 1180 gr
M 66/B 90x90 4 Way Connection Plate | 311 | 311 | 8.5 5 Steel 2.739 gr

38



2 Way Connection Plate /\l 4
oz A
6 8 10

(|
/ ) f N
a |
10 - -
- J - J
Code Exq;?:\al Product Name A | B | @D | K Material Weight
MF 120 80x40 | 2 Way Connection Plate | 119 [99.5 | 8 4 Steel 331.6 gr

Fasteners 2 Way Connection Plate A\ Uminium
Auto Profile

6 8 10

(|
4 I 4 I
sl £ -
. S
80
O [ O)| =
\_ L._.4—0._| J Y,

Code ExI:;cr’:\al Product Name A B | @D K Material Weight
MF 72/A 80x40 | 2 Way Connection Plate | 80 40 8 10 Steel 111.1gr

39



Plain Additional A\ 1mini
Connection Plate bl
8 10
(>
4 A ) 4 )
-,
e
f _s.ﬁwﬁ
!f' ﬂ_f-’f ,-.ﬂfsﬁ'ﬁ?n
A = b
: i e, e
o I :.-___,.-"" 5,
N ok J N J
Code Product Name A C oD L Material | Weight
M 148 40x80 Plain Additional Connection Plate| 72.5 6.5 150 HRP 330 gr
M 148/J 45x90 Plain Additional Connection Plate| 85 5 8.5 175 HRP 564 gr
Profile
8 10 p N - ~
> [ - .
AHV
NN L
) i
- J - J
Code Product Name A B C D Material Weight
M 57 Foot Fixing Bracket 153 45 92 9 Steel 488.5 gr
Profile
8 10

- N (1
.h?“xh_
o % -
Prof . .

Code External Product Name A | B| D| H| K| Material | Weight
M 152 45x45 | Based Foot Connection Elements | 135| 89 | 13 | 80| 4 Steel 862 gr
M 153 45x90 | Based Foot Connection Elements | 180 | 89 | 13 | 80| 4 Steel 972 gr
M 154 40x40 Based Foot Connection Elements | 130 | 89 | 13 | 66 | 4 Steel 740 gr
M 155 40x80 | Based Foot Connection Elements | 170 | 89 | 13 | 66| 4 Steel 860 gr

40



Cabin Equipment // Hanger
6 8 10

(>

A\luminium

Profile

Code Product Name Material Weight
M 72/20 Hanger 20.25 Plastic+ Steel 18 gr
M73 Hanger 30.45 Plastic+ Steel 36 gr
Cabin Equipment / Slide Rail A\yminium
Profile
6 8 10
[ | >
4 ) 4 N
-
1
!
- - %
Code | | Product Name A|C | H L M Material Weight
M 75/B Slot 8 Slide Rail 8 | 2 (187 53 | M4 Derlin 8.5gr
M 75/A Slot 10 Slide Rail 10 [ 2.5 [20.3| 60 M4 Derlin 13 gr
Cabin Equipment / Accordion Pin A\uminium
Profile
6 8 10
[ | >
) 4 N
J - %
Code | | Product Name A|C | H L M Material Weight
M 75/D Slot 8 Accordion Slide Pin 8 |15 | 3 | 24 | M8 | Steel+Derlin 7gr
M 75/C | Slot10 Accordion Slide Pin 10 | 18 | 3 | 27 | M10 | Steel+Derlin 12.5gr

41



6 8 10

/A\luminium
Profile

[ Jl] >
4 N 4
z '.:.I ’?-'5{; -q::::‘..-» i T
= 0| |8 L
B F“E‘} s .h,_;::h&h E*{\I
”,iifi'; T e e
! I‘.Er- — |E- - '_'-':"!1.
N J N g-- — E J
Code Product Name Material | Weight
M 39 Corner foot connection piece Steel 301 gr
Cabin Equipment / Shelf Adjusting Plate Auminium
Profile
6 8 10

[ Jl] >
4 )
- J
Code | - | Product Name A B d 2D Material Weight
M 98 Slot 8 Shelf Adjusting Plate | 120 | 30 | 6.5 6.5 Steel 247.5 gr
M 98/K Slot 10 Shelf Adjusting Plate 120 | 38 8.5 8.5 Steel 2425 gr
Cabin Equipment // Magnet Connection Set ZA\luminium
Profile
6 8 10
L2 £33 k4
(" Magnet Connection Set N 4 N
N J N J
Code | - | Product Name A|B|L | ad Material | Weight
M 069/D | Slot6 Magnet Connection Set 45120 | 40 | 55 Saerjlal;liacte 88.5 gr
M 69/B | Slots Magnet Connection Set 45 | 35 | 55 | 6.5 St)reggl;liacte 104 gr
M 069 Slot 10 Magnet Connection Set 45 | 47 | 67 | 6.5 Stfpellaztli%te 113 gr

42



Cabin Equipment W7 Handee A luminium
Profile
6 8 10
2 E3 K4
4 I
HANDLE
':L'QI'
o J
Code Product Name H L L1 D Material Weight
M 67 Plastic Handle 405 |1315| 915 | 25 | @84 Plastic 445 gr
M 68 Plastic Handle Thin 405 | 130 | 104 | 12 @5 Plastic 25gr
M 69 Plastic Slide-in Handle 6 134 | 100 27 | @85 Plastic 110 gr

Cabin Equipment // Handles Aluminium /A

uminium
Profile
6 8 10
[ i N || N |
4 I 4 N
OVAL . TUBE
e S
| 3 1‘:":,‘%:- = v
s
] J - J
Code Product Name H L L1 D Material Weight
M 67 AO Aluminium Tube Handle Oval 47 | 233 - 38 - | Aluminium & PVC 88 gr
M 68 AO Aluminium Tube Handle Oval 43 | 230 - 34 - | Aluminium & PVC 70 gr
M 69 AT Aluminium Tube Handle 56 | 232 - 30 - | Aluminium & PVC 81gr
M78 Aluminium Tube Handle 68 | 236 - 36 - |Auminum&PVC| 103 gr
Cabin Equipment / Ball Catch A uminium
rofile
- N 4 N
o
£2 32 K3 )“b
o = .f"f
ii? 5 s {is §
I g e
o' ""‘?ék;cﬂ " L
B,
il W £ " T
S
Lol o
s J - %
Code Product Name ) L L1 B D Material Weight
External g
M 69/C Ball Catch 20-25-30 | 53 40 55 @5 Plastic 25gr
M 69/F Ball Catch 35-40-45 | 74 | 57 | 77 | @55 Plastic 40 gr

43



Cabin Equipment // Adjustable Handle A\ uminium
Profile
6 8 10 N 4 I
(b ] < | |
J - J
Code Product Name M H h1 L Material Weight
M 73/A Adjustable Handle M6 | 72 30 78 Plastic 41 gr
M 73/B Adjustable Handle M8 | 92 50 78 Plastic 52 gr
M 73/C Adjustable Handle M10 | 102 60 78 Plastic 65 gr
Connection Accessories / Slot Seals A\luminium
Profile
6 8 10 e N\ 4 - N\
£2 a2 K3 il | N I
A
R |I [
f 1
E // \ d\\
J - / J

Code |- | Product Name Colour A B Material Weight
M 79 Slot 6 Slot Seal Q00® |73 | 38 PVC 15,60 gr
M 49 Slot 8 Slot Seal 000® |89 | 43 PVC 18,30 gr

M 59 Slot 10 Slot Seal 000® | 117 81 PVC 45,00 gr

Connection Accessories / Glass Seals A\uminium
Profile
6 8 10 f N f N
[ J{J N ] N A
‘<
\ .
- J - J

Code [ | Product Name Colour A B Material Weight

M 70 Slot 6 Glass Seal ([ X} 7 PVC 41,00 gr

M72 Slot 8 Glass Seal 00® | 385|113 PVC 80,00 gr

M 71 Slot 10 Glass Seal 000 11 | 121 PVC 82,00 gr

44



Mowora

IMogoia papyapira ps apeevikid mliao
Buxeaiugg ps aviox| o fhieAvtes, Ak, vpaoa xa xnpwa PE. 7 Aofloi

Kedikig  Timog  [lboo
B VIMIHG20 30mm MoX2 Umm
BiIVIMIMHG60 30mm MeX3(mm
BIVIMMHIELS 30mm MEX 1 Smm
BIVIMMMIE2S 30mm MEXISmumn
B1VT VMG 40imm WIGX 3 haan
BIVTIMIOD6A0 40mm MoX4 U
BIVIMAOOE 20 40imm MEX 2 0mun
BIVIMAOOE 30 40mm MEXI mm
BIVIMAOOE40 40mm MENA(mm
BIVINMAOOE S0 40mm MEXS Omim
LBI VINHO1020 40mm M| 0X30mm

Kotiwdg Timeg  Ilase
BIYVTMA01040 40mm M10X40mm
BIVIMS00K0 $0mm MEX 20mm
BIYTM SOOI SThmm MEX Mimm
BIVTMS00&40 Smm MEX40mm
BIVTM 01 240 S0omm M 12 Xdinun
BIVTM301040 30mm M 10XA(nm
BIVTMO00R40 G0mm MEX$0nm:
BIVTM&aD 1030 60mm M0 (mm
BIVTME0]10%0 GOmm MI0XS(mm
BIVTM&0]1240 6Omm M1 2X4(0mm
BIVTM&01250 60mm M12X50mm

i

Kodwés Times [lioo
BIVTMX 0430 Mmm MAX 30w
BIVIMX 300620 30mm  MOX 20m
BIVIMKXA00630 40mm MEX 3hine
BIVIMX301030 40mm M H0X Mme

lopoku papyapita pe apo. xGoo INOX AISI 34
Boaweiimg (e avroyn o hadvres, sada, ypaoa s ympa PE 7 Aofol

| BIVIMNXS010230 Stmm M10X40me

Itahiag

opola papyapita axd PF Duroplast pe
QPOEVIKD XAGO

Mopoia papyapire exd PF Duroplast pe
APaEVIKG Taa0 INOX

AvBextikn o chonte, AT, KOBSTLn Ko
Gsites, 6 rofoi

Kebud;  Tomeg  Nléso
DIPF2B20 PF2 M5X20 Xmm MSX20mm
UIPF2B30 PF2 MIX30 Ximm MSX30mm
OIPF3P25 PF3 MEX2S 30mm MEX25mm
OIPFAC2S PEA MAX2S 40mm MGX25mm
O1PF4C40 PF4 MEX40 40mm MOX40mm
OIPFAD20 PF4 MEX20 40mm MEX20mm
OIPFAD40 PF4 MEXA0 40mm MEX20mm
O1PFGE4S PG M12X4% 49mm M1 2X45mn
GIPFSD20 PFI MEX20 Simm MEX 20mm
DIPFSD35 PFS MEX35 S0mm MEX35mm
DLPFGESO PEG MIOX S50 S0mwn M IOX40mn
GIPFGED2S PEO MEX2S G0mm MEX2Smm
DIPFEDAD PFOH MENA0 Doum MEX 40mm
OIPFGE) PFG M10X30 60mm MIOX20mn
OIPFAETO PFG6 MI1OXT0 6dmm MIOX70mn

AvHexTikg or Ao, AEy, Koneji Ka
dehutec. 6 tofloi

Kinduxig Tomg  Thieo
OIPF2B20OX PF2 MSX20 20mm MSX20mm
OIFF2B30X PF2 MSX M) 20mm M3X 30mm
IPFIB4X PF2 MSX40 2imm M3 X4lmm
MPF2CHX PF2 MOX 20 20mien MOX 20mm
IPFICI0X PF2 MGX 30 20mem MOX30mm
IPFIC40X PFX MaX40 20mm M6Xd0mm
CIPFIDISX PFY MAEX S M0man MEX 1 5mum
OIPF3ID2SX PF3 MEX2S 30mm MEX25mm
OIPFACSX PF4 MGX2S 40mm MOX25mm

ItaAiag

—_—

Itadiag




Cabin Equipments /
6 8 10 N

Hinges

-
2 E3 K4
L 2N
Prof . .
Code External Product Name E H1 H2 L1 L2 L3 L4 | D1 Material | Weight
M 65/K 20x20 | Hinge (Thin Series) | 5 | 10.25 [10.25|18.35|18.35| 35 | 19 6 | PA6Black | 8.5gr
M 65/G 25x25 | Hinge (Thin Series) | 5 | 12.75 [12.75|23.35( 23.35| 35 | 19 6 | Pa6Black | 11gr
M 65/H 20x25 Hinge (Thin Series) 5 | 10.25 | 15.25| 18.35| 23.35| 35 19 6 Pa6 Black 10 gr
M 65/A 30x30 Hinge 8 15 15 | 25 25 50 30 | 6.5 | Pa6Black | 29.5gr
M 65/B 35x35 Hinge 8 | 175 |175| 32 | 32 | 50 | 30 | 6.5 | Pa6Black | 34gr
M 65/D 45x30 Hinge 8 | 2275| 15 | 32 | 25 | 50 | 30 | 6.5 | Pa6Black | 31gr
M 65/J 35x45 Hinge 8 |2275|175| 32 | 32 | 50 | 30 | 6.5 | Pa6Black | 33gr
M 65/C 45x45 Hinge 8 | 2275|2275 32 | 32 | 50 | 30 | 6.5 | Pa6Black | 34gr
6 8 10 ~  /
[ i >
o ; = - o =
= Lk * "% * ' ! *
" <
e J \
Code el Product Name Material Weight
External 9
ML 30 30x30 30x30 Leaf Hinge | Aluminium | 8.5gr
ML 40 40x40 40x40 Leaf Hinge | Aluminium | 11gr
ML 45 45x45 45x45 Leaf Hinge | Aluminium | 9.5gr

46

Cabin Equipments // Locked & Covered Hinges /A\[uminium
Profile
e 8 10 4 N 7 N
£2 L3 L3 '
s
D1- >
S J %
Code Eng',rf\ al Product Name H L1 L2 L3 L4 D1 Material | Weight
M 92/A 25x25 Hinges With Lock 72 48 | 28 52 30 | 6,6 Pa6 Black 46 gr
M 92/B 30x30 Hinges With Lock 72 | 48 | 28 | 59 | 35 | 6,9 | Pa6Black | 48gr
M 92/C 45x45 Hinges With Lock 72 | 48 | 28 | 87 50 | 6,6 Pa6 Black | 60,5 gr
M 92/D 45x45 Hinge Cover 62,2 | 56 | 36 | 73 | 455 | 6,6 | PabBlack | 41gr




Cabin Equipments / Plexiglass A\uminium
Profile
e N

B C
<
S %
Code Product Name A B C Material Weight
- MIMOPOYN NA KOINOYN
PX 30 Plexiglass 3 mm 2050 | 3050 | 3 Plexiglass 3,57 kg/m® STIE ENIOYMHTES
PX 40 Plexiglass 4 mm 2050| 3050 | 4 | Plexiglass | 4,76 kg/im’® AIAZTAZEIZ
PX 50 Plexiglass 5 mm 2050| 3050 | 5 Plexiglass 5,95 kg/m’ AIATIOONTAI ZE
PX 60 Plexiglass 6 mm 2050| 3050 | 6 | Plexiglass | 7,14 kg/m? AIA®OPA XPQMATA
PX 80 Plexiglass 8 mm 2050 | 3050 8 Plexiglass 9,52 kg/m’
PX 100 Plexiglass 10 mm 2050| 3050 | 10 | Plexiglass | 11,90 kg/m’
Cabin Equipments / MoAukapBovika 2 uminium
rofile
~ N
B C
S %
Code Product Name A B Cc Material Weight
- MMOPOYN NA KOIMNOYN
PC 40 MoAukapBovikdé 4 mm 2100 | 6000 | 4 | Mohukapoviké | 0,80 kg/m* ZTIZ EMIOYMHTEZ
PC 60 MoAukapBoviké 6 mm 2100 | 6000| 6 | MohukapBoviks | 1,30 kg/m’ AIAZTAZEIZ
PC 80 MoAukapBovikd 8 mm 2100 | 6000 | 8 | MohukapBoviko | 1,50 kg/m® AIATIOONTAI ZE
PC 100 MoAukapBoviké 10 mm 2100 | 6000 | 10 | MoAukapBoviko | 1,70 kg/m’ AIA®OPA XPQMATA
PC 160 MoAukapBovikd 16 mm 2100 | 6000 | 16 | MohukapBoviké | 2,55 kg/m®
PC 200 MoAukapBovikd 20 mm 2100 | 6000 | 20 | Mohukapoviko | 3,10 kg/m’
. . 2upTTayn
Cabin Equipments . /A
MoAukapBovikd I
e
Code Product Name A B Cc Material Weight
PCB 30 Zup. MoAukapBovikd 3 mm | 2050 | 3950 | 3 | MoaukapBoviks | 3,60 kg/m? | |
PCB 40 ZupTr. MNoAukapPovikdé 4 mm | 2050 8?88 4 | MohukapBoviko | 4,80 kg/m?
N
PCB 50 Zupr. MoAukapBovikd 5 mm | 2050 | 3950 | 5 | NohukapBoviks | 6,00 kg/ms
>upTr. MoAukapBoviké 6 mm 3050 6 | MoAukapBoviké | 7,20 kg/m? MMOPOYN NA KOIMOYN
PCB 60 H PR 2050 | 5100 gm ZTIZ EMIOYMHTES
PCB 80 Zup. MoAukapPovikd 8 mm | 2050 | 6100 | 8 | MohukapBovikd | 9,60 kg/m? AIAZTAZEIZ
- oA ; 2 AIATIOONTAI ZE
PCB 100 >upTr. MoAukapRovikd 10 mm | 2050 | 6100 | 10 | MolukapBoviké | 12,00 kg/m AIAGOPA XPOMATA

47



Cabin Equipments / Cable Holders A\uminium
Profile
8 10
N [l > |
4 N\ 4 N
1
:C
o4
\_ WITHOUT CAP WITH CAP Y, \_ )
Code Product Name A B C D E Material | Weight
M 82 Cable Holder Without Cap S10 22 |10 |22.3| - - Plastic 4.24 gr
M 82/8 Cable Holder Without Cap S8 22 | 8 |17.2| - - Plastic 3.55gr
M 83 Cable Holder With Cap S10 34 |16 | 20 | 30 10 Plastic 5.74 gr
M 83/8 Cable Holder With Cap S8 20 | 24 10 Plastic 4.86 gr
Cabin Equipments / Plastic Plexi Holder Auminium
Profile
4 o ) N
J 5 . il
= / :‘-I c
: ¥ |.”
B A
_ WITH UNIBLOCK WITH NUT ) )
Code Product Name A B (o D Material Weight
M 109 Plexi Holder With Nut $10 25 | 18| 25 | 55 Plastic 5.74 gr
M 109/S8 Plexi Holder With Nut S8 235| 18 | 25 | 55 Plastic 4.86 gr
M 109/A Plexi Holder With Uniblock 222 - Plastic 7,46 gr
Cabin Equipments / Plexi Holder Metal A\uminium
Profile
(S| u LJ
4 ) 4 N
{ .
|
|
- J - %
Code Product Name A B Cc D R Material Weight
M 120 Plexi Holder Metal Single 20 |32,5| 25 |@4,2| 12,5 | Aluminium 25gr
M 120/A Metal Plexi Holder Dual 20 8 65 | 65 - Aluminium 82 gr

48



Security Fence

Connection Elements / Connection Systems A FI"IF]JQ".'IF!
Slot Sliding Wheel

) 4 N

}

ic

1

J . J

Code [ | Product Name A| B |C |D|E Material |Weight
L Black
M 88/B Slot 8 Slot Sliding Wheel 335| 47 |19.3|58 | 7.8|p ethyiene A7 gr
L Black
M 88/A Slot 10 Slot Sliding Wheel 68.5| 48 | 29 | 9.5 |95 Polyethylene 90 gr
M 88/X Slot 10| Sliding Wheel set 40x40 | 40 | 40 | 40 Aluminium | 116 gr
M 88/Y Slot 10 Sliding Wheel set 45x45 45 | 45 | 45 Aluminium | 170 gr
M 88/J Slot 10 Sliding Wheel set 30x30 30 | 30 | 30 Aluminium | 80 gr
Safety Lock
4 N 4 R
~':_
. J - J
Code Product Name A| B|C|D Material Weight
M 92 Safety Lock 80 | 40 | 35 | 31| Aluminium | 243 gr
Safety Fence Connector
N N
O\ AN

Code Product Name A | B (o3 D|dl| M Material
M77 Safety fence ConnectionPart | 5 | 12| 6 | 24 | 5 | M5 | Aluminium |13.5gr

49




Security Fence Al i
ConnectlonSystems LMInILIMm

Connection Elements /

Parallel Profile Connection Kit

” N [ N [
A
i [ "? e
JEFl
'f|.|
H B -..-""__.__. D
T ,.-"'__..?,. c
i . il
{4/ ko IIFI !
G JAAN ) U
Code Product Name A |B|C|@D|E F | H | Material |Weight
M 135 Parallel Profile Connection Kit | 30 | 30 | 27 | 85| 15 | 85| 57 | Steel |38.54r
C tion El ¢ Security Fence A
onnection Elements Connectlon Systems UWJQ'PF’;
Wire Mesh Clamp
e N e ™
o o ¥ -
A T o
4 o
.E.:I
15
N\ J \_ J
Ve 4 r ’ N\
‘--—-__L\
\_ N J
Code [ | Product Name A | B |Clamping Range| Material |Weight
MF 81/C 8,10 Wire Mesh Clamp 20 | 10 3-5 mm Zinc 20 gr
C tion El ¢ Securlt Fence A y
onnection Elements onnectlon Systems HMInILm

Wire Mesh Clamp Plate

50

4 N T f— ) N
A-IIEB L {41 | { N
= { { Tt |
X 4t L | = L
E[ | = -‘ 1 L /
4 | T >
: \ |
e = ' L . L ‘- f - L
il L Tt
- N\ J %
Code Product Name A | B |Clamping Range| Material |Weight
MF 810 Wire Mesh Clamp 45| 6.1 3-5mm Zinc 14 gr




N (7 4
RN -
N N [
=L,
B; !
1
C
= RN VRN
Code Product Name A B C Color Material Weight
M 58/P 20x20 Profile Cover 20 20 2 (] Plastic 19r
M 58/B 20x40 Profile Cover 20 40 3 [ ] Plastic 2gr
M 58/F 20x80 Profile Cover 20 80 3 o Plastic 4gr
M 58/R 25x25 Profile Cover 25 25 3 [ ] Plastic 1.59r
M 58/A 30x30 Profile Cover 30 30 3 () Plastic 3.59r
M 58/H 35x35 Profile Cover 35 35 3.3 [ Plastic 45gr
M 58/HV 35x35 Profile Cover (S10) 35 35 3.3 o Plastic 4gr
M 170 30x60 Profile Cover 30 | 60 3 o Plastic 7g9r
M171 30x90 Profile Cover 30 90 3.3 [ ] Plastic 7.59r
M PK 40 40x40 Profile Cover (S10) 40 40 3.3 [ J Plastic 5.5¢r
M 172 40x40 Profile Cover (S8) 40 | 40 | 33 o Plastic 5.5gr
M173 40x80 Profile Cover (S8) 40 80 3.3 () Plastic 8.88 gr
M PK 48 40x80 Profile Cover (S10) 40 80 3.3 (] Plastic 9.5¢gr
M 58/C 45x45 Profile Cover 45 45 3.6 (] Plastic 8gr
M 58/J 45x60 Profile Cover 45 60 3.6 ) Plastic 9.5gr
M 58/D 45x90 Profile Cover 45 90 3.6 o Plastic 15.5 gr
M 174 45x135 Profile Cover 45 135 3.6 [ Plastic 19 gr
M 175 50x50 Profile Cover 50 | 50 3.6 (] Plastic 8gr
M 176 50x100 Profile Cover 50 | 100 | 3.6 [ ] Plastic 17 gr
M 58/G 60x60 Profile Cover 60 60 3.6 Y Plastic 11.5gr
MA177 60x60 Profile Cover (S8) 60 60 3.6 () Plastic 12.5¢9r
M177/G 60x90 Profile Cover 90 60 3.6 o Plastic 18.33 gr
M PK 80/8 80x80 Profile Cover (S8) 80 80 3.6 ([ ] Plastic 21.6gr
M PK 80 80x80 Profile Cover 80 80 3.6 o Plastic 19.5¢gr
M 58/E 90x90 Profile Cover 90 90 3.6 [ ] Plastic 31gr
M 178 20x20 Radius Profile Cover 20 20 3 o Plastic 1gr
M 58/L 30x30 Radius Profile Cover 30 30 [ ] Plastic 25¢r
M 58/M 45x45 Radius Profile Cover 45 45 (] Plastic 7gr
M179 23x127 Profile Cover 23 [126.8| 4.2 o Plastic 18.5 gr
M 179/X Hexagon Stand Profile 60 52 3 e Plastic 5.67 gr

51




Connection Accessories / Plastic Levelling Feet Auminium
Profile
-
AT
1 ! H
1
\ ° by \
Cod D | M| H | h |Material | Weight | -2
ode Product Name ateria eig Capacity
M 62/D M6 Plastic Levelling Foot @50 | M6 | 80 | 50 | Plastic 41gr 39 kg
M 62 M8 Plastic Levelling Foot @50 | M8 | 80 | 50 | Plastic 47 gr 49.5 kg
M 61 M10 Plastic Levelling Foot @60 | M10 | 100 | 60 Plastic 1M1 gr 114 kg
M 61/C M12 Plastic Levelling Foot | @60 | M12 | 82 | 50 | Plastic 101 gr 152kg
M 61/B M16 Plastic Levelling Foot | & 108 100 | Plastic 283gr | 325.5kg

Connection Accessories / Metal Levelling Feet

i

A UITlInIUITl

rnFlIe

bdd

{_;'_.-.' | r
o~ -) _r-".'_—i.‘\ |
N e N Y,
Cod Product N D | M| H | h | Material |Weight|.-°29
ode roduct Name ateria eig Capacity
MF 62/A M6 Metal Foot Simple @40 | M6 | 80 | 50 Steel 150 gr | 130 kg
MF 62/B M8 Metal Foot Simple @40 | M8 | 80 | 50 Steel 250 gr | 180kg
M 62/C M;?a.oﬁ‘gegrﬁng%a;gﬁ @60 | M10 | 103 | 70 | Chrome-steel | 188gr | 190 kg
M12 Chrome Coated
M 62/B Metal Levelling Feet @80 | M12 | 146 | 100 | Chrome-steel | 479 gr | 489 kg
M16 Chrome Coated
M 62/A Metal Levelling Feet @120 | M16 | 146 | 100 | Chrome-steel | 1.081 gr| 1.150 kg
Connection Accessories // P6deg A\luminium
Profile
4 I 4 I
-
'
|
o % o J
Cod E |oD|@d| H Load Material | Weight
ode Product Name Capacity ateria eig
M 99/A Poda 1peAn ® 50 24 | 50 | 10 | 70 50 kg Polyamid | 204 gr
M 99/B P6&a TpeA ® 50 pe gpévo | 24 | 50 | 10 | 70 50 kg Polyamid | 277 gr
M 99/C Poda TpeAq @ 75 24 | 75 | 10 [100 70 kg Polyamid | 298 gr
M 99/D P6da Tpehy © 75 pe ppévo | 24 | 75 | 10 | 100 70 kg Polyamid | 538 gr
M 99/E P&&a 1peAf ® 100 24 100 | 12 | 130 80 kg Polyamid | 719 gr
M 99/F Poda tpeAry @ 100 pe @pévo| 24 | 100 | 12 | 130 80 kg Polyamid 820 gr

KATOTMMIN ZHTHZHZ YMAPXOYN KAI ZE AAAEZ AIAMETPOYZ

52



51

;‘

p—

%
J

. . Feet Wheel . .
Connection Accessories : ; A\
— Conection Piece Himinidm
4 I 4 I
k] | |
J / : {3 4 ' |
u-uu ot i e —aH bt
o e I h -
ez ~
- J - J
Code Product Name A B (o3 L oD | ad Material | Weight
MF 4080 |40x80 (40x40) Con. piece M12| 50 | 40 | 40 [189.64/10.50| 8.50 | Steel Zinc | 729 gr
MF 4590 [45x90 (45x45) Con. piece M12| 55 | 45 | 50 198.00/10.50| 8.50 | SteelZinc | 885gr
Connection Accessories // Cupholders /\lumlnlum
rofile
( B F3 (0]
]
]
2g =
]
L |
ﬁ e L mwa
“i\,f Eps
- J -
Code Product Name A B C L @D | ad Material Weight
MF 79 Cupholder 106 | 25.5| 23 | 112 | 100 | 5.5 PP 145.6 gr
Connection Accessories // Grab Containers A\uminium
Profile
4 I 4 I

53

- - %
Code Product Name A B C L N ad Material Weight
MF 110 Grab Container 110x105x40 S10 | 110 | 105 | 51 | 103 | 40 | 5.40 PP 95.2 gr
MF 210 Grab Container 210x105x40 S10 | 210 | 105 | 51 | 103 | 40 | 5.40 PP 190.8 gr
- - Metal Magnetic A\ . .
Connection Accessories // Sensonbclim: Fl,_||r1-|n||-+!|ll_|m
4 ) 4 N
&
©)
§7=] | =<
b e
- © J - J
Code Product Name A B C L N ad Material Weight
MF 56 Metal Magnetic Sensor Holder S8 | 12.2 | 48.4 | 12.2 | 56 2.5 8 Polyamide | 11.2 gr



Cabin Equipment // In slot
8 10

A\uminium
Profile
i || W [ ~N s ~
- / - J
Code > | Product Name Color A B Material | Weight
Uus Slot 8 In Slot U 8 seal ) 8,2 PVC 44.6 gr
Uu10 Slot 10 In Slot U 10 seal ®  [1400{1020 PVC | 50,6 gr
e e
-

Cabin Equipment // Absorbers
s ‘ N

Aumlnlum
rofile
N

e
E?rx o
e M“‘*m e
RMH & :
gy g .
\RH\}\E‘:"‘%.
&
G % G
H . .
Code Product Name A | B Min. Max Material Weight
M 84 Absorbers (Strok 150mm) F300N | 150 | 195 | 233 - 383 Steel 205 gr
M 84/B Absorbers (Strok 105mm) F150N | 105 | 145| 188 - 293 Steel 159 gr
M 84/C Absorbers (Strok 85mm) F85N 168 - 253 Steel 148 gr

Cabin Equipment // Absorber Connection Part

< <_;

3

A\uminium
Profile
N

J N
Code Product Name Material Weight
M 84/D - M84/F Absorber Connection Part Steel 48gr

54



Code Product Name A B C N H Material Weight
FR 8040 40x80 Roller Clip-fix 40 | 80 | 20 | 8.38-10.38 30 Plastic PA | 43.3 gr
40x80 Roller Clip-fix )
FR 8040/G with lateral guide 40 | 80 | 20 | 8.38-10.38 30 Plastic PA 48 gr

Roller Elements (cupBard pe 1o AL 40 RL) /

Clip-fix Version

A\uminium
Profile

: ™\ 4 N
wi
al
H
al
H
i
4
N
4
Code Product Name A B Cc W | Wi | D |Maxload | Color Material Weight
FR 28 Roller Element R28 Black | 50 |33.3|20.4| 24 |20.4| 28 | 150N | Black | PlastcPA | 19gr
FR 28/R Roller Element R28 Red 50 [33.3(204| 24 |204| 28 | 150N Red | PlasticPA | 19gr
FR 28/G Roller Element R28 Grey 50 |33.3|204| 24 (204 28 150 N Grey | PlasticPA | 19gr
FR 28/F R\:’I:'tﬁrfaﬁé"eeg}aiﬁs 50 |33.3|20.4|238|204| 28 | 150N | Black | PlasticPA | 20gr
FR 90 Roller Element R9 50 | 40 | 24 | 33.3| 24 | 24 | 100N | Black | PlasticPA | 30gr

55



Roller Elements (cupBartd pe to AL 40 RL) /

X+
10

33.3

[sE[]
‘:_i[
2 U b

~

Ball Element

o ) & )
Code Product Name A|B|C | W|J| Color Material | Weight
FR 50 Ball Element 50 |33.3| 10 | 6.6 | 16 |Sockease)  PA& 1 71gr
Roller Elements (cupBartd pe To AL 40 RL) // Brush Element A\luminium
Profile

4 N\
33.3
. [ | ]
= [’Hl = & ) g g
3 A=l
_ & | ]
- J
4 N\
- J
Code Product Name A B C w
FR 50/B Brush Element 50 |33.3| 10 | 20

-

N~

A\

.

a1
31

2| 33

Color

Material

Weight

15 | 04

Black

Plastic PA

14 gr

56



Roller Elements (oupBard pe 1o AL 40 RL) // Back stop Element /A\lpuminium

rofile

4 N 4 N

(i v]

-
/
-
Code Product Name A B C w H Color Material Weight
FR 50/S Back stop Element 50 |33.3| 23 | 33.3| 20 |gromenes| Steelzinc | 44gr

Roller Elements (cuupatd pe 1o AL 40 RL) // Slide ramp Unit A\luminium
P

rofile

4 N 4 I

ST vew
—7

DC G | I

[y

040

- J -
4 N /
- J -
Code Product Name A B w H Color Material Weight
FR S20 Slide ramp Unit 50 |33.3|33.3| 9.2 | Black | Plastic PA 15 gr

57



Rail System Elements (cupgara pe 1o AL 40 RL) Slide strip Unit A\luminium

Profile

4 N 4 N

_omaa m_
¥ z .
k. . L 1
’ l:‘ I
ol e
—

MHKOZ BEPIAZ 2000 mm

Code L w H Color Material Weight

FR L20 Slide strip 22 |33.3(/2000| 0.5 |19.2| Black |Plastic PE-HD | 324 gr

, FR 28M
L d *a FR 28M/S
J S J
™ -
.

FR 28/D
/

N\
Code Product Name A B L H |@1|@2| Material | Weight
FR 28M Holding Bracket 44 | 60 | 92.8|78.7|28 |4.2 Steel 198.5 gr

FR 28M/S Holding Bracket with stop 44 | 60 | 92.8|78.7|28|4.2 Steel 198.5 gr

FR 28/D | Variable Holding inner Bracket | 44 | 44 | 60 | 43 | 28 | 4.2 Steel 144 gr

58



Code Product Name A B L H |@1|©2| Material Weight
FR 4040 End Plate 40x40 40 31 40 40 (45|45 Steel 55gr
FR 4080 End Plate 40x80 40 | 31 | 80 | 40 [ 45|45 Steel 108 gr

Spare Parts

Vs

A\

Vs

~

&




Arm System Elements // Friction Joints

4 N 4
N\ J -
Code Product Name Friction Torque M L B Material Weight
(min deep 15 mm)]
40x40 Friction Joint Set
FB 40L/3 for Arm Systom 3 Nem 8 40 | 40 Steel 775 gr
4 N 4 N\
N\ J -
Code Product Name Friction Torque M L | B Material Weight
45x45 Friction Joint Set
FB 45L/6 for Arm Svatom 6 Nem 8 45 | 45 Steel [825.4gr
s = B_mm N e N
o ]
L = E
R
ﬂ]]: : &
iy I,
3 '%
E ]
o
N\ J - J
Code Product Name Friction Torque » M15 L | B Material Weight
FB 90H/D9 | 45x90 D Friction Joint 2x9 Nem 8 | 90|45| sSteel [1669.4gr
Set for Arm System
e W rae _— N N
l_ ~h e E ﬁ o
- . 2 ]
14 'gf ﬁ L]
gle g #
1
0
. S J a J
Code Product Name Friction Torque . M15 L | B Material Weight
45x90 Friction Joint Set
FB 90L/6 for Arm Svstom 6 Nem 8 90 | 45 Steel  |1159.2 gr

60

A\uminium
Profile



4 N\ 4 N\
i
i
L 5
- J . J
Code Product Name A | B | C |@9D | Material Weight
. PA Plastic
MMF 75/100| Monitor Plate 75/100| 100 | 75 | 40 | 8.8 | [y 2P | 123 gr

Arm System Elements / Keyboard Holder

-

.
Code Product Name A|lB|C N Material Weight
Aluminium
MF 80K | Keyboard Holder | 660|638 |300|41.6| 8 |223 Anodized 4900 gr

61

Arm System Elements // Monitor Mounting Plate /A\luminium
Profile

Auminium
Profile



Cabin Equipment / AAevoBIdeg Inox /A\lpu

minium

rofile

IIdyog —
I Mnkog!
3-6

10
12
16
20
25
30
35
40
45
50
60
70
80
90
100
110
120
130
140
150

3

AlevoPrdeg o€ petpiko DIN912 1NOX A2

®

Iayog—
| Mnkog!
10
12
16
20
25
30
35
40
45
50
60
70
80

AlevoPideg pelateg DIN7991 (INOX A2

4

®

10 12

IIdyog —
I{MnKog!
10
12
16
20
25
30
35
40
50
60

4

4,32
4,68

AlevoPrdeg opné DIN7380
INOX A2

62




| : Nagipasia - Pobéeg ;
hncesiooc© Al

-

Podéheg DINI25 INOX AZ Podéheg papbiiq DINS021 iNox Az
X7 18X 34 Tonog Timog
4X9 20X37 3X9 16X50
5X10 22X39 4X12 18X56
6X13 24X44 5X15 20X64
ax17 27X50 6X18 22X66
10X21 30X56 8X25 24X72
12X24 33X60 10X30 27X81
14X28 I6X66, 12X40
16X30 14X45
Nrileg DIN976 1 pétpov INOX A2 I'upoPep DIN127B iNox Az
3 16 3 16
2 18 4 18
5 20 5 20
6 22 6 22
B 24 8 24
10 27 10 | 27
12 30 12 | 30
S - 14
Avoleibora nepikdyiia DIN934 NOX A2 Mepioyha acpareiag DIN9SS mwoxaz
Tlénog léyoc
2 16
25 18
3 20 Tingog Mo
4 22 3 14
5 24 4 16
6 27 5 18
8 30 6 20
10 33 8 22
12 36 10 24
14 12
INepikdyha Toehd DIN1587 INOX A2 | Hepwbyha nevaroddeg DINIISAF INOX A2
Méoo
3
4
5
Maoo Moo 6
3 12 8
4 14 10
5 16 12
6 18 14
8 20 16
10 u




ANOZEIAQTA

// Mnxavopibeg /.'&‘FL".!“‘H'I

ER88IdeLsEERBRERS =

Mungavifhdes opelares DIN9GI Nox a2

| [Mngavipibes rpanelondeic - pelatec DINTISS -
DIN965 Nox a2

/\/’

.

ESEFZL2AEHENBEEDE® v

Mupavoprdes mharokiéguize W59330
INOX AT

S

Migpe—+ 3 1 5 &k

iitﬁitﬂ'ﬁiﬁi‘f

[

Mugavopides Tpanelondeic DINS4
INOX A2

S/

4 5 6

==zi€

FEE T L1




ANOZEIAQTA // Minxavopidec-Kaoovopideg Agw um
fra L]

Mngzavifées parig DIN966 INox A2

Hipes—+ 3 4 § 6 Iome— 3 4 2§ 6

Mg | Mijeng |

G 25

] 30

10 35

12 E 1]

16 S0

20 60
- Miyyovofibes noprt WS9460 | | Mugavifibeg gpelites || Muzuvofhoss neraiovbu
@ INOX A2 I@ WS9470 (INOX AL DIN3I6AF [INOX A2

JMijkog
§ Migs— 4 5 6 Mape— 4 5 6 8
10 I Mrxogz] IMngkog |
12  {1] 16
16 12 20
a5 16 35
30 20 30
35 25 40
4 M 50
Koaagovofides DINGO3 [NOXAZ

Mdgog -+ Mg+ -
v MRS 12 Mgy 6 8 [
0 |

25 100

3n 1o

as 120

4i) 1M

45 140

S0 150

[ 16l

™ 180

11




Mevicotdeg

ANOZEIAQTA //'

Mevreaifes cohivoy M8136 mNoxas

,/‘

L] L

)

L D 1]
T 20 2 Smm

Mevrealdes pe dumkd mipo MB018 voxas

©

©|

-

©

L. BB

Zoanl
3

= H

s

Bimm Miynm |, Smm

Maevreoides yuroi M8233 NoX Al

Mevreoides zutoi M8234 [INOXAT

@ eH :
N G8 ©
eHel l : ? | 1@
s Pl Sl el G - | T A BN
3Rmm 38mm 2 Smm 25mm 4mm | i"'" STmm 3Emm 4 Smm ! @ ﬁJ
SOmm SOmem 3 2mm 3 Smm 4mm | " E ~.] T6mm 38mm 4 Smm T
Mevreatdes yurol erpbyyvior VIS428 Ixox A4 | Meveeotdec M8429 nox a4
i -
©
h!
KA (68 L B W _ _@/) ]
hMmmMnmr-tmm , LHlmmMmm-imm cof——¢
Mevreoebes pe mipo MB2IR (INOX as ) Mevreoibe: paxpiorevor ME235 NoX a4 1
' (@
©
@
LT
" @ .
' ]
‘ @
1 L B H
L B H 1 103mm 2 7mm 4 Smm J._,__®
71 mm 28mm (mm *| | 152mm 30mm 4 Smm - B




Mevicoldeg

Mevrealdes pe povaro M8237 noxas

“amu:&&a; yutol Hurpovpevor ME2I9 mwox ae
1 poroTpugia Seipvel S50

L] - - = = M
. iy | al
(@) - 8
@H®o| 5%
1 Tl Bk "'u
L B a m . L . Timeg L B H =~

Sdmim YTmmd Smm [ dawm H .=£l Amatpog 92 mam 36mm Smm
T0mm 3Tmm 4, Smm l4am n Aclid;  92mm 3mm Smm @ ’

. Msvrsoides utoi Tomov "T" MS28] INOX A4

Mevreotdes ofdr MS04S inox as

= H M ow
=
) L
Tmos L B H & & '
A T6mm 32mm4 Smm \ L Bl B H
B 102mm3%mm4,Smm 0 | 195mm 98 mm 20mm Smm - g;_

Mevrealbées puxpooTteveor M8046 inoxae

= =
" T@
L B R L B H Q
4 7mm ¥mm | Smm TSmm Mimm | Smm L ( 2
TSmm4mm | Smm K5mm 30mm | Smm O
R0mmA0mm2. Smm 1 00mm 40mm 1, Smm 1 (5]
Mevreaides paxpoorevor MBO47 (INOXAE | Mevreaides MBO43 INOX A4
H
I@ ©| | b
I A ) ‘
S0mm 20min 1 S (amns YO &
90mm 30mm | Smm | © | L B H v
100mm 40mm | Smm o0 | 1 30mm40mm | Smm \\#,"‘ |

&7



ANOZEIAQTA // Movotiec AN LI

Preflle

B LHD
A 3D 40 1,539
B 4D 40 1,545
C 40 6 1,545
D 50 60 1,555
E 60 60 1,545
F S0 80 1.54.5
G o0 R0 1,545
H 7 %0 1,545
| HO 8O 1545
P0G 100 1,545

Mevreaideg MB049 1Nox Az

Mevreoshes MBISD 1NOX A2

BLHD
A 25 300845
B2RS300 %45 e 8
C 3% 00,845
D 40 300845
E 40 500,845 T h
F 50 500,843 '
G S0 Gbus4s,
H 55 700,845

Mijwog Mairug Migzog
3" 3" 2m
%" 3% 2mm
a4t g 2mm
4" 34" Zrm
4" 4" 2

Mevreoiies mhaki AKSSSNID INOX a4

| Mevreoddes pe povlepdy AKSSSB20 INOX A4

Mijwog [hudrog Mayos
a ar 2mm
3s" %" 2mm
4" 3* Imm
4" 3% 2mm
47 4" Jmm
4" 47 Imm
44" 4%"  dmm

1//6_

40mm TOmm 4

Mevreotdes pipfov ARTSS4 Nvox A4

Q
r Q9 ' (@)
OQH O
A B ) )

Mevresides pouflov xoproi ARTSS2 NvoxAs

O g0
O HO

v

A B
H0mm SEmm

Kmdiad; A B
7324 Glmm Hhmm
7326 Nhmm Som

' Mevreozde: SpoUREYOL EPIGTEPOL  INOX 188

o~ “"\l
(amis)
. - |

Mevrzaedzs dumpobpevon Sl INOX 188

Kodwé; A B

7323 60mm40mm e
7325 T0mm S0mm (EmiG)




Fwvieg | Corners Hsplypa(ct%)?_gscriptior V\%ight I'Isplypa(ﬂ]'d_lbl?_;scriptior WeéiZHt
15x15x1,9 0,132 10x10x4,0 0,100
20x20x1,5 0,160 30x20x1,50 0,200
25x25x1,5 0,200 50x20x2,0 0,370
B 30x30x1,5 0,240 60x60x3,0 0,950
40x40x1,5 0,318 75x50x5,0 1,640
I . 40x20x1,5 0,240 60x20x1,5 0,320
7‘_7Lg‘ﬁ? 50x30x3,0 0,620 60x40x4,0 1,040
50x50x2,0 0,530 80x40x4,0 1,250
60x20x1,5 0,320 80x20x1,5 0,400
100x20x2,0 0,640 100x100x8,0 4,150
100x50x5,0 1,960 120x20x2,0 0,750
Adpeg | Profiles |'I£p|ypaq2r|'1)iTE))escriptior V\(/ae'ig'ht I'Isplypcx(?rl'l)l_ll_l;escriptior V\?e'iz'ht
20x3 0,160 80x50 1,080
20x5 0,270 80x10 2,160
25x3 0,200 80x15 3,240
25x5 0,340 100x8 2,160
30x3 0,240 100x10 2,700
40x5 0,540 100x20 5,400
30x5 0,410 100x30 8,100
30x10 0,810 120x10 3,240
40x3 0,320 120x15 4,860
T 40x5 0,540 120x20 6,480
_:f[ 40x10 1,080 150x10 4,050
S — 40x15 1,620 150x15 6,080
40x20 2,160 150x20 8,100
50x3 0,410 200x10 5,400
50x5 0,620 200x15 8,100
50x8 1,080 200x20 10,800
50x10 1,350 20x10 0,540
60x3 0,490 40x8 0,860
60x5 0,810 60x8 1,300
60x10 1,620 95x11 2,822
60x15 2,430 95x11 2,822
Kapé | Square I'Ispwpa((t;’]d)l()_re)scriptior v\%ig-ht Hsplyp(x((ﬁ)r'!'_lbl?_sscriptior v\/eéiIZHt
12x12x1,0 0,120 40x40x1,5 0,624
——
T 15x15x1,5 | 0220 | 50x50x15 | 0,786
H - 20x20x1,5 0,300 100x50x2,0 1,580
25x25x1,5 0,380 60x20x1,5 0,620
] 30x30x1,3 0,403 60x40x2,0 1,041
40x20x1,5 0,460 80x20x1,3 0,684

69

/A\luminium
Profile

ZNTACTE pag
TIMEG

ZnNTNOoTE Pag
TIMEG

ZnNTNoTE Pag
TIMEG



Aluminium Profiles AT

// Profiles AT

Mepiypaen | Description  ©.B.

/A\luminium
Profile

K(lpt': | Square Meprypaen | Description ©.B

(LxHxT) Weight (LxHXT) Weight
80x40x1,3 0,824 100x40x1,6 1,180 Zr]Tr']O'TS MaG
M 1. 80x80x1,8 1,520 100x50x2,0 1,580 T|pég
100x20x1,5 0,950 100x100x2,0 2,120
7‘%L4~ 120x20x1,6 1,180 100x100x4,0 4,150

Mepiypaen | Description  ©.B. Mepiypaen | Description ©.B

ZwAnveg | Tubes

(DxT) Weight (DxT) Weight
®8x1Tmm 0,060 d30x2mm 0,480
O10xTmm 0,080 ®32x2mm 0,510
d12x2mm 0,170 D42,4x2mm 0,685
Q ®16x1,5mm 0,184 ®50x2mm 0,814 ZNTAOTE PaC
T ®16x3,5mm 0,370 ®60x2mm 0,984 TIU%’ZQ
d18x2,0mm 0,270 d70x2mm 1,154
-——D ®20x1,85mm | 0,285 ®80x2mm 1,320
®22x1,5mm 0,260 ®100x2mm 1,663
d25x2mm 0,390 ®120x3mm 1,154
d26x2mm 0,407

Aapapiveg
AAoupiviou

Mepiypapn | Description
(DxT)

Mepiypaen | Description
(DxT)

2000x1000x0.60 mm

2500x1250x0.60 mm

2000x1000x0.80 mm

2500x1250x0.80 mm

2000x1000x1.00 mm

2500x1250x1.00 mm

2000x1000x1.50 mm

2500x1250x1.50 mm

2000x1000x2.00 mm

2500x1250x2.00 mm

2000x1000x3.00 mm

2500x1250x3.00 mm

2000x1000x4.00 mm

2500x1250x4.00 mm

2000x1000x5.00 mm

2500x1250x5.00 mm

2000x1000x6.00 mm

2500x1250x6.00 mm

2000x1000x8.00 mm

2500x1250x8.00 mm

2000x1000x10.00 mm

2500x1250x10.00 mm

2000x1000x12.00 mm

2500x1250x12.00 mm

2000x1000x15.00 mm

2000x1000x20.00 mm

ZnNTNoTE hag
TIMEG

- MMTOPOYN NA KOIOYN KAI NA EMNE=ZEPIAZTOYN KATOIIN MAPATTEAIAZ
- EMIZHZ YITIAPXOYN AAMAPINEZ TYTNOY KPIOAPAKI & MIMAKAABQTO

H ETAIPIA MAZ AIAGETEI YINEPZYITXPQNO E=OMNAIZMO OMNQzx
2TPANTZA - WAAIAI - KOMNH & KOAAHZH LASER

70



A\luminium
Profile

KATAAOIOZ

E=APTHMATA BIOMHXANIKQN META®OPEQN
ACCESSORIES CONVEYOR SYSTEMS

& www.aluminium-profile.gr

= sales@aluminium-profile.gr




MINIATURE DRI_

. J
CODE PRODUCT NAME A B C L L1 | Roller Material Weight
TL10 30x30 Drive plate 82| 30 | 13 | 115 | 100 | 61802 | Arovmaio | 969r
TL 20 45x45 Drive plate 102| 45 136 152 [129.5] 1202 | A~SONFC | 210gr
4 i ) 4 N

T
e e

Py n\._\ H"-.?:‘J}I.:‘I
._:C:' E:. |
\_ : J N J
CODE PRODUCT NAME A B Cc L L1 | Roller Material | Weight
TL 30 30x30 Tension plate 82| 30 | 13 | 115 | 100 | 61802 | \rsemao | 969
TL 40 45x45 Tension plate 10.2| 45 [13.6| 152 [129.5| 1202 | ,~SOMFO | 207 gr
4 N

N J - J
CODE PRODUCT NAME A B | E L L1 | Roller Material | Weight
TL 50 30x60-60x60 Tension plate | 80 | 38 | 20 | 165 | 60 - ANOYMINIO | 863 gr
TL 60 30x60-60x60 Drive plate 80 | 38 | 20 [ 165 | 108 | 6004 | AAOYMINIO | 931gr
TL 70 45x90-90x90 Tension plate | 90 | 55 | 19,3 | 200 | 69.8 - AAOYMINIO | 1043 gr
TL 80 45x90-90x90 Drive plate | 90 | 55 | 19,3 | 200 | 132 | 6004 | AAOYMINIO | 1115gr

7



4 N e N
TI_ENSION s -
- J N J
CODE PRODUCT NAME Material Weight
TL 100 23x127 Tension Plate Ao | 1162.gr
TL 120 23x127 Drive plate oo | 9720r

4 N 4 N
TENSION DRIVE
e ‘
| ]
- J - J
CODE PRODUCT NAME Material Weight
TL 90 23x75 Tension Plate Ao | 181 gr
TL 130 23x75 Drive plate Ao | 256 gr
25x105 MODULA
CONVE
4 ~ 4 N 4 N
he 4 25x105
2510 !JF%; - PALLET
5x105 < H """\-\_\_\_\_ il
MODULAR: . Tk |
ALy @Y
1 gt '-{' ST
! = L
L I | 14 =
P
“““a_ﬂ-- '
\ o ) \ )
CODE PRODUCT NAME A B E L L1 Roller Material Weight
TL105 M 25x105 Modular conveyor left 90 | 40 | 14 170 | 130 6004 AAOYMINIO | 577 gr
TL105R 25x105 Pallet conveyor right 90 | 40 | 14 | 170 | 130 | 6004 | AAOYMINIO | 577 gr
TL105P 25x105 Pallet conveyor plate 120 | 65 | 17 | 250 | 185 6005 ANOYMINIO | 1343 gr
TL150 M 25x150 Modular conveyor left 130 | 65 | 17 | 245 | 165 6005 AAOYMINIO | 1400 gr
TL110R 25x150 Modular conveyor right 130 | 65 | 17 | 245 | 165 6005 AAOYMINIO | 1400 gr




MINIATURE CONVEYOR
PLATE & ROLLE

6 8 10
[ | >
4 ) 4 )
d ! ru,*: oo
| |
A | ! % S\
1 | = el LY
- ‘_M%:_"r;ﬁﬁ';
._"'\-,{-\
o J o J
CODE PRODUCT NAME A|A1| B |B1I| C |[D| H Material | Weight
TL1 30x30 Miniature conveyor jointplate| 30 | - | 65 | - | 48 | - | 13 | AAOYMINIO | 129 gr
TL 2 30x30 Roller pin & connection parts | - (355 - |65| - | 33| 17 | AAOYMINIO |105,5gr
TL 3 45x45 Miniature conveyor joint plate | 45| - |875| - | 655| - |17,5| AAOYMINIO | 343 gr
TLA4 45x45 Roller pin & connectionparts | - | 36 | - | 57| - |26 |14,6 | AAOYMINIO |186,5 gr

23x75 & 23x127 CONVEYOR J
PLATE & ROLLER

4 I 4 I

g J g J
CODE PRODUCT NAME A B (o3 Material | Weight
TL 2375 LR 23x75 Conveyor joint plate & roller 48 | 185 | 127 | AAOYMINIO | 450 gr
TL 237550 | 23x127 Roller ® 50 pin & connection parts | 29 | 36 | 50 | AAOYMINIO | 100 gr

- J - J
CODE PRODUCT NAME A B © Material | Weight
TL5R 23x127 Conveyor joint plate right 48 | 185 | 127 | AAOYMINIO | 1289 gr
TL5L 23x127 Conveyor joint plate left 48 | 185 | 127 | AAOYMINIO | 1289 gr
TL6 23x127 Roller ® 50 pin & connection parts | 39 | 60 | 50 | AAOYMINIO | 230 gr
TL 8 23x127 Elevator interior roller connection | 32 | - | 50 | AAOYMINIO | 52gr

73



E=APTHMATA META®OPEQN METAL SENSOR HOLDERS
6 8 10
[ | > |
/ ) / )
- J - J
CODE PRODUCT NAME A B c | D d Material Weight
TL 41 Sensor Connection Cassete Flat | 110 | 30 | 48,8 12,2 | 6.2 HRP 61 gr
TL 42 Sensor Connection Cassete Flat | 175 | 30 | 93,8 12,2 | 6.2 HRP 106 gr
TL 43 Sensor Connection Cassete Flat (L)] 128 | 30 | 48 |12,2 | 6.2 HRP 97 gr
TL 44 Sensor Connection Cassete Flat (S)] 168 | 30 | 28 [12,2 | 6.2 HRP 118 gr
TL 45 Sensor Connection Cassete Flat | 110 | 30 | 48,8 (18,2 | 6.2 HRP 61,5 gr
TL 46 Sensor Connection Cassete Flat | 175 | 30 | 93,8 18,2 | 6.2 HRP 101 gr
TL 47 Sensor Connection Cassete Flat (L)] 128 | 30 | 58 |18,2 | 6.2 HRP 106 gr
TL 48 Sensor Connection Cassete Flat (S)| 186 | 30 | 53 (18,2 | 6.2 HRP 146,5 gr
EZAPTHMATA META®OPEQN PLASTIC SENSOR HOLDERS
f ) / )
RIT=
< v ook
| L
= | o
- J - J
CODE PRODUCT NAME A B (o3 D d E Material Weight
TL 31 Sensor Holder ® 10 | 60 | 20 | 30 (@19 |@10| 8 |MAAZTIKO 209gr
TL 32 Sensor Holder ® 12 60 | 20 | 30 (@19 | @12| 6 | MAAITIKO 17 gr
EZAPTHMATA META®OPEQN REFLECTOR CONNECTION PLATE
f ) / )
| .-- s i - s
4
.-""{'\.' _
B H
- J - J
CODE PRODUCT NAME A B c | D d Material Weight
TL 33 Flat horizontal 3 mm 64 | 92 | 44 |33 | 7 HRP 126 gr
TL 34 Flat vertical 3 mm 147,5| 50 | 48,8| 3,6 | 6.2 HRP 130,5 gr
TL 35 Conveyor (U) plate 146 | 90 | 103 | 8 8 HRP 685 gr

74



E=APTHMATA META®OPEQN

CONECTION PLATES

& TORQUE ARMS
6 8 10
[ | N |
e B\ N
T CONNECTION GRADE T
N Y, J
CODE PRODUCT NAME A B (o] D Material Weight
TL 51 T Connection 120 | 126 85| zINC 283 gr
TL 52 Grade T Connection 120 | 126 | 3 | 8,5 ZINC 271 gr
e B\ e N
FLATT T FLAT
\ ' i Y, \ J
CODE PRODUCT NAME A B (o] D Material Weight
TL 53 Flat T Attachment 175 | 175 8,5 ZINC 601 gr
TL 54 T Flat Attachment 180 | 100 | 3 | 8,5 ZINC 563.5 gr
e N e =
P A i -'\:'\"i_',_ ,-:;_f -%
0] e —~ h_ = -.f; :" 5 =
.-__,{._ -3 3 -
-
N Y, N J
CODE |PRODUCTNAME| D d A B L Material | Reducer Type | Weight
TL 55 | Torque arm | @45 | @8,2| 65 |143,5| 101 |3 mm ZINC EV 25 95,5 gr
TL 56 | Torque arm | @55 | @8,2| 78 | 164 | 115 |3 mm ZINC EV 30 127,5 gr
TL 57 | Torque arm | @60 | @8,5| 90 | 155 | 100 |3 mm ZINC EV 40 125 gr
TL 58 | Torque arm | @70 | @8,5| 100 | 170 | 106 |3 mm ZINC EV 50 164 gr
TL 59 | Torque arm | @80 |@10,5| 115 | 200 | 130 |5 mm ZINC EV 63 333 gr
ESAPTHMATA METAGOPEQN TENSION BOLTS-
TENSION NUTS
e N e N
N Y, N J
CODE PRODUCT NAME Material Weight
TL 71 23 x 127 Tension bolt STEEL 8.8 50 gr
TL72 23 x 127 Tension nut STAINLESS| 29gr

75



E=APTHMATA META®OPEQN GRADE METAL FEET

6 8 10
(N | |
4 N 4 N
i 5 ? i e
A =T
1 F
(P ,t_.__,-' o /_z
_’ ®

- J - J

CODE PRODUCT NAME A B L min L max Material | Weight

TL 73 Grade Metal Feet (small) 180 | 233 570 870 ZINC | 3.12Kg

TL 74 Grade Metal Feet (big) 200 | 240 750 1200 ZINC | 4.82Kg

EZAPTHMATA META®OPEQN SPEED ADJUSTMENT PANEL

4 N
- J

CODE PRODUCT NAME Dimension/mm| Inverter Weight

TL 75 Speed Panel inverter 0,37 Kw | 145x150x230 | LS-SV-IE5 | 2.150 gr

TL 76 Speed Panel inverter 0,37 Kw | 170x205x300 | LS-SV-IC5 | 2.950 gr

TL 77 Speed Panel inverter 0,75 Kw | 170x205x300 | LS-SV-IC5 | 2.950 gr

TL 78 Speed Panel inverter 1,75 Kw | 170x205x300 | LS-SV-IC5 | 2.950 gr

76



BOTTOM

ROLLER BE

~

CODE PRODUCT NAME A | B | C| @D Material |Weight
TL 93 Bottom return roller bearing | 100 | 30 7 | AAOYMINIO | 66 gr
TL 93/50 Roll Bed @50 25 [50,5|7,5| 8 Nylon  |10,66 gr
TL 93/51 Roll Bed @51 30 (515 9 |14 | Nylon [14,55gr

PLS ROLLER CHAIN‘

~

4 j ) 4
b F
A
( r‘if”w.:%%— ¢
LY ||' Illé f
S 1
o J o
CODE PRODUCT NAME A D | d | Material |Weight
TL 94 Roller chain wheel ®50 1/2 56 | 24,8/ 50 | 12 | NAAZTIKO | 82gr
TL 95 | Double roller chain wheel 50 1/2 [72,5|24,5| 47 | 12 | nAAsTIKO | 87,6 gr

PLASTICS ROLLER‘

~

4 ) 4
o J o
CODE PRODUCT NAME A | B |@D| @d| Material |Weight
PLS 50 | PLSrollhead ®50x 1,5 [27,5(19,5| 50 | 47 | naAsTIko | 60gr
PLS 30 | PLSrollhead ®30x1 | 27 |19 | 30| 28| naasTiko | '150r
PLS 30 D | PLSrollhead ®30x1,5 | 27 | 19 | 30| 27 | nAasTiko | 11gr
PLS 20 PLS roll head ®20x1 | 26 | 18 | 20| 18 | MAAITIKO | 5,59r
PLS 40 PLS roll head ®40 x 1,5 | 27 | 19 | 40| 38 | MAAZTIKO | 60gr

7



E=APTHMATA META®OPEQN

CONSOLE CONNECTION KIT

78

& SHAFT
4 ) 4 )
CLAMP HOLDER
<D\ VTN
|'Hij’f$- T Sy i & If:jl; Ii"{g:l 1L|I ;
.l.\ ..& .I" I;"?{ 1 Il I':'-I __,.-"’-' g
i. i _3.‘; S - .r' .:""-\.\..‘ .-.P_Il; .
e 5 |
- £ . N\ J
CODE PRODUCT NAME A C | D | Material |Weight
TL 61 Console body connection clamp |55,5| 21 |21,8|@12| NAAETIKO | 32,5 gr
TL 62 Console cross holder ®12 56 | 39 |21,5|/@12| NAASTIKO | 27 gr
4 N / N
DOUBLE SINGLE
.2 Et]
2
.30
- . J - J
CODE PRODUCT NAME A B | C D | Material Weight
TL 63 Single shaft holder 12 38 | 24 | 27 | @12| MAASTIKO 24 gr
TL 64 Double shaft holder ®12 92 | 60 | 28 | @12 MAAZTIKO 96 gr
4 = A ~ N
|
1
. . J NG J
CODE PRODUCT NAME A D d H Material Weight
TL 65 Frame side connection mount | 93,5 | @50 | @10 | 77,5 | NAASTIKO 486 gr
4 N / N
| :""’__:;:_\"5 25 ‘.-‘-"
II| I
L
- J \§ J
CODE PRODUCT NAME A D d H Material Weight
TL 66 Triple Feet 44 |@482| @50| 140 | NAAZTIKO | 1.045gr
TL 67 Frame loner connection mount| 70 | @50 | @10 | 175 | MNAAZTIKO 344 gr



BRACKET CONNE(‘

/ 7

NG J
CODE PRODUCT NAME gD | M | L Material Weight
TL 131 Console connection kit - - - Plastic 203 gr
TL 139 | Miniature console connection kit | - - - Plastic 179 gr
TL 133 |Console connection shaft (120mm)| @12 | M8 | 120 | Stainless steel | 103 gr
TL 134 |cConsole connection shaft (150mm)| @12 | M8 | 150 | Stainless steel | 130 gr
TL 135 |Console connection shaft (200mm)| @12 | M8 | 200 | Stainless steel | 175 gr

10

74

PB 40
30
L
N~
22
PB 60
52,5

i

SIDE BARRIER PROF
& FRICTION PLAS

4 N\
- J
4 N\

M N J
i i Moment of inertia

CODE Size Quality |L (mm) ™ Iy Area Mass
PB 40 40 mm 6063 | 6000 | 0,50cm’ | 1,06cmi’ | 1,52cm? | 0,41Kg/m
PB 60 60 mm 6063 | 6000 | 0,77cm’ | 6,10cm’ | 2,83cm? | 0,77Kg/m

CODE Size PRODUCT NAME A | B | C | Material Mass
PBB 40 @ 40mm Side barrier (10x40) | 40 |95/ 45| PVC | 0,26 Kg/m
PBB 60 | 60mm Side barrier (13x60) | 60 | 13| 7 | PVC | 0,35Kg/m

79



®76 TENSION DR_

4 N 4
i
N\ J o

CODE PRODUCT NAME | ALP¥INUM [oapaos| L | L1 | AA | @D | @d1 | @d2 | Material | Weight
TL 151 ®76 Tension drum | 23 x 127 300 | 366 | 315 | 14 76 20 9 |ANOYMINIO| 2,557 gr
TL 152 ®76 Tension drum | 23 x 127 450 | 516 | 465| 14 | 76 | 20 | 9 |AAOYMINIO| 3.607 gr
TL 153 @76 Tension drum | 23 x 127 600 | 666 | 615 | 14 76 20 9 |AAOYMINIO| 4.646 gr
TL 154 ®76 Tension drum | 23 x 127 800 | 866 | 815 | 14 76 20 9 |AAOYMINIO| 6.321 gr
TL 155 ®76 Tension drum | 23 x 127 1000 |1066|1015| 14 | 76 | 20 9 |AroYMINIO| 7.432gr
TLT 30 @76 Tension drum 23x75 300 | 366 | 315 | 14 76 20 | 85 |AAOYMINIO| 2.405gr
TLT 45 @76 Tension drum 23 x 75 450 | 516 | 465 | 14 76 20 | 8.5 |AAOYMINIO| 3.457 gr
TLT 60 76 Tension drum 23x75 600 | 666 | 615 | 14 76 20 | 8.5 |AAOYMINIO| 4.509 gr
TLT 80 76 Tension drum 23x75 800 | 866 | 815 | 14 76 20 | 85 |ANOYMINIO| 5.911gr
TLT 100 ®76 Tension drum 23 x75 1000 |1066|1015| 14 76 20 8.5 | AAOYMINIO| 7.314 gr
— // *76 O DR_

4 N 4
| :l“::-.:.:...::::-..:;:. = -]
= Id 9 A
s wEf i x|
- J -

CODE PRODUCT NAME | ALDMINOM |oaPros| L (L1 | A | @D | Gd1 | @d2 | Material | Weight
TL 156 ®76 Drive drums 23 x 127 300 |516.6(315| 82 76 20 18 |AAOYMINIO| 2.943 gr
TL 157 ®76 Drive drums 23x 127 450 |666.6|465 | 82 76 | 20 | 18 |AnoYMINIO| 3.973 gr
TL 158 ®76 Drive drums | 23 x 127 600 [816.6(615| 82 | 76 | 20 | 18 |AAOYMINIO| 5.017 gr
TL 159 @76 Drive drums 23 x 127 800 [1016.6/815 | 82 76 20 18 | AAOYMINIO| 6.385 gr
TL 160 @76 Drive drums 23 x 127 1000 [1216.6/1015| 82 76 20 18 | AAOYMINIO| 7.810 gr
TLD 30 @76 Drive drums 23 x75 300 |464.1|315| 82 76 20 18 | AAOYMINIO| 2.745 gr
TLD 45 ®76 Drive drums 23x75 450 | 614.1|465 | 82 76 20 18 | AAOYMINIO| 3.797 gr
TLD 60 ®76 Drive drums 23 x 75 600 764.1|615 | 82 76 20 18 | AAOYMINIO| 4.849 gr
TLD 80 ®76 Drive drums 23x75 800 |964.1|815 | 82 76 20 | 18 |AAOYMINIO| 6.252 gr

TLD 100 ®76 Drive drums 23x75 1000 |1164.111015| 82 76 20 18 | AAOYMINIO| 7.654 gr

80




®114 TENSION_

-
N\ J N\

CODE PRODUCT NAME |®APAOZ| L L1 | AA | @D | @d1 | @d2 | Material | Weight
TD 30 ®114 Tension drums| 300 | 366 | 315 | 14 | 114 | 25 | 9 |AAOYMINIO| 4.446 gr
TD 45 ®114 Tension drums| 450 516 | 465 | 14 114 25 9 | AAOYMINIO| 6.231 gr
TD 60 ®114 Tension drums| 600 666 | 615 | 14 | 114 25 9 | AAOYMINIO| 7.665 gr
TD 80 ®114 Tension drums| 800 866 | 815 | 14 | 114 25 9 | AAOYMINIO | 10.220 gr

TD 100 ®114 Tension drums| 1000 |[1066|1015| 14 | 114 25 9 | AAOYMINIO | 12.540 gr
TD 120 |®114 Tension drums| 1200 |1271|1220| 20 | 114 | 30 9 | AAOYMINIO| 17.160 gr
4 I 4
y ;
- ] | v
| & !'—I = EE==SaETE 1
| 9.1 e
1 |.r_-...._|.‘_l....-......... __i_i_.i
I =S5 =2
g J g
CODE PRODUCT NAME |[®APAOZ| L L1 A @D | @d1 | @d2 | Material | Weight
TD30A |®1M4Drivedrums| 300 |541[315| 138 | 114 | 25 | 25 |AnOYMINIO| 5.235gr
TD 65 A ®114 Drive drums | 450 691 | 465 | 138 | 114 25 25 |ANOYMINIO| 6.979 gr
TD 60 A ®114 Drive drums | 600 841 | 615 | 138 | 114 25 25 |AAOYMINIO| 8.658 gr
TD80A | ®114Drivedrums| 800 [1041|815 | 138 | 114 | 25 | 25 |AAOYMINIO| 10.980 gr
TD 100 A | ®114 Drive drums | 1000 |1241|1015| 138 | 114 25 | 25 |AAOYMINIO|13.280 gr
TD 120 A | ®114 Drive drums | 1200 [1500(1220| 138 | 114 | 30 | 25 |AAOYMINIO| 18.200 gr

81



EZAPTHMATA META®OPEQN ®50 ALUMINIUM ROLLER

4 N\ 4
L
L1
L2 CAPACITY
= 250 KG
=
hai Eig
g J g
CODE PRODUCT NAME L L1 | L2 | @D | AA | Material Weight
TL 290 50 x 290 Aluminium roller 335 | 310 | 320 | 50 | 8 |AAOYMINIO| 584 gr
TL 440 D50 x 440 Aluminium roller 485 | 460 | 470 | 50 | 8 | AAOYMINIO| 816gr
TL 590 ®50 x 590 Aluminium roller 635 | 610 | 620 | 50 | 8 |AnOYMINIO| 1.079gr
TL 790 ®50 x 790 Aluminium roller 835 | 810 | 820 | 50 | 8 | AAOYMINIO | 1.384 gr
4 N 4
L
L1
| . | CAPACITY
; | 300 KG
LB |
Sl -
\§ J \§
CODE PRODUCT NAME L L1 | L2 | @D | AA | Material Weight

KNU 29 |$50 x 290 Aluminium KNURLED | 335 | 310 | 320 | 50 | 8 |AAOYMINIO| 880gr
KNU 44 | ®50 x 440 Aluminium KNURLED | 485 | 460 | 470 | 50 | 8 | AAOYMINIO | 1300 gr
KNU 59 |50 x 590 Aluminium KNURLED | 635 | 610 | 620 | 50 | 8 |AAOYMINIO| 1720 gr

KNU 79 50 x 790 Aluminium KNURLED | 835 | 810 | 820 | 50 | 8 |AAOYMINIO| 2280gr
KNU 99 |$50 x 990 Aluminium KNURLED | 1035 | 1010 1020 | 50 | 8 |AAOYMINIO | 2850 gr

E=ZAPTHMATA META®OPEQN ®51 STEEL ROLLER
e R e
L
L1 .
L2 CAPACITY
‘ 400 KG
8 :E«[; ]
N J N
CODE PRODUCT NAME L | L1| L2 | @D | AA | Material | Weight
TL290 S ®51 x 290 Steel roller 318 | 300 | 290 | @51 14 Steel 1603 gr
TL440 S ®51 x 440 Steel roller 468 | 450 | 440 | @51 14 Steel 2426 gr
TL590 S ®51 x 590 Steel roller 618 | 600 | 590 | @51 14 Steel 3162 gr
TL790 S ®51 x 790 Steel roller 818 | 800 | 790 | @51 | 14 Steel 3987 gr
TL 1000 S ®51 x 1000 Steel roller ~ |1018|1000| 990 | @51 | 14 Steel 4812gr

82



EZAPTHMATA META®OPEQN MINIATURE TENSION DRUMS

- J - J
CODE PRODUCT NAME [®APAOZ| L L1 @D | @d | Material Weight
TDS 25 ®30 Tension drums| 25 42 | 28 | 30 | 15 Steel 160 gr
TDS 55 ®30 Tension drums | 55 72 | 58 | 30 | 15 Steel 346 gr
TDS 85 ®30 Tension drums | 85 102 | 88 | 30 | 15 Steel 645 gr
TDS120 ®30 Tension drums | 120 140 | 126 | 34 15 Steel 855 gr
E=APTHMATA META®OPEQN MINIATURE DRIVE DRUMS
4 N 4 N

L1

@D
[4}

N J N J
CODE PRODUCT NAME | ®APAO: L | L1 | @D | @d | Material | Weight

DDS 25 ®30 Drive drums 25 121 28 | 30 | 14 Steel 256 gr

DDS 55 ®30 Drive drums 55 151 | 58 | 30 | 14 Steel 455 gr

DDS 85 ®30 Drive drums 85 181 88 | 30 | 14 Steel 723 gr

DDS 120 ®30 Drive drums 120 219 | 126 | 34 | 14 Steel 989 gr

83



E=APTHMATA META®OPEQN

KNURLED TENSION DRUMS

e R e
L
N J N
CODE PRODUCT NAME (®APAOX A | L (L1 |9@D | @d Material | Weight
KNT 40 @45 Tension drums | 40 25163 |43 | 50 | 15 |AAOYMINIO| 170gr
KNT 85 ®45 Tension drums| 85 | 25 |108| 88 | 50 | 15 |AAOYMINIO| 260 gr
KNT 130 | ®45 Tension drums| 130 | 25 |153[133| 50 | 15 |AAOYMINIO| 350 gr
KNT 150 | ®45 Tension drums| 150 | 25 |176[156 | 50 | 15 |AAOYMINIO| 390 gr
KNT 175 | ®45 Tensiondrums| 175 | 25 (198|178 | 50 | 15 |AAOYMINIO| 430 gr
KNT 200 | ®45 Tension drums| 200 | 25 (226|206 | 50 | 15 |AAOYMINIO| 490 gr
KNT 300 | ®45 Tension drums| 300 | 25 |326(306| 50 | 15 |AAOYMINIO| 607 gr
KNT 450 | ®45 Tensiondrums | 450 | 25 |476|456| 50 | 15 |AAOYMINIO| 950 gr
E=APTHMATA META®OPEQN KNURLED DRIVE DRUMS
4 N 4
L
L1
T ]
| ™ |
e ——— %E{
_A 8 B
\§ J \§

CODE PRODUCT NAME QAPAO: | A |[B | L | L1 | @D | @d | Material | Weight
KND 40 ®45 Drive drums 40 25 | 45 [140 | 43 | 50 | 14 | AAOYMINIO | 270 gr
KND 85 ®45 Drive drums 85 25 | 45 |185 | 88 | 50 | 14 | AAOYMINIO | 380 gr
KND 130 ®45 Drive drums 130 25 | 45 |230 | 133 | 50 | 14 | ArOYMINIO | 470 gr
KND 150 ®45 Drive drums 150 25 | 45 |253 (156 | 50 | 14 | AnOYMINIO | 510 gr
KND 175 ®45 Drive drums 175 25 |45 (275|178 | 50 | 14 | AAOYMINIO | 550 gr
KND 300 ®45 Drive drums 300 25 | 45 (403|306 | 50 | 14 | AAOYMINIO | 790 gr
KND 450 ®45 Drive drums 450 25 | 45 [553 (456 | 50 | 14 | anoyminio | 1070 gr

84




Z4

ACETAL CONVEYOR
DRIVE AND TENSION

4 N
\ J
L2
A L3
&

o
Q
CODE PRODUCT NAME QAPAOZ | L L1 | A | @D | @d | Material Weight
PDM 190 Acetal conveyor tension miller | 190,5 [241,5/209,5| - | @30 | @25 Steel 1270 gr
PTM 190 Acetal conveyor drive miller 190 |344,5/209,5| 119 | @30 | @25 Steel 1650 gr

N 4 N

J o J

L2
L
o A 13
= — — > :?
8 g 8 8

CODE PRODUCT NAME OAPAOZ | L L1 | A | @D | @d | Material Weight
PDM 200 Modular conveyor tension shaft 200 250 | 218 | - | @30 | @25 Steel 1300 gr
PDM 300 Modular conveyor tension shaft | 300 350 | 318 | - | @30| @25 Steel 1860 gr
PDM 400 Modular conveyor tension shaft | 400 450 | 418 | - | @30 | @25 Steel 2410 gr
PDM 200 S | Modular conveyor drive shaft 200 353 | 218 | 119 | @30 | @25 Steel 1680 gr
PDM 300 S | Modular conveyor drive shaft 300 453 | 318 | 119 | @30 | @25 Steel 2240 gr
PDM 400 S | Modular conveyor drive shaft | 400 | 553 | 418 | 119 | @30 | @25 | Steel 2790 gr

85



4 N Ve ~
- / \_ v
CODE | PRODUCT NAME | Material | Weight
RR 35 Roller Rail Zinc | 959 gr/m
AIATIOETAI XE 6m / 3m BEPTA
4 N - N
e
] 3 Y
r“'|' . -
RN
-..w.?_‘:;; 'r. | ]
- ) N J
CODE | PRODUCT NAME | Material | Weight
RC 35 |Roller R Conection sheet |  Zinc 50,5 gr
s N e N
]
-y
. AP oy i
r | \H""f o -~ i
I ,.§.| =
'\!Lijﬁ? &
. J \_ )
CODE | PRODUCT NAME | Material | Weight
RFS 35 g Stopping Sqee | Zinc | 63gr

86



MEIMARIDIS

B R 0O S

LAND



o

® TpOTTOG TTANPWUNAG YETPNTOIC

® Ta JETAPOPIKA ETTIBAPUVOUV TOV TTEAATN

® O TTapWV TINOKATAAOYOG KATAPYEI TOV TTPONYOUNEVO

® 210 TTPOPIA DEV yivovTal ETTIOTPOYPEG

® 2 Ta £COPTHMATA Ol ETTIOTPOPEC Ba yivovTal KATOTTIV ouveEVVONoNG

® XpOvoG TTapAadoong KAToTTIV ouvevvonong

® H eTaipia dev @EpEl Kapia euBuvn yia TUXOV @BopEG atrd TNV HETAPOPA

APIOMOZ AOIFAPIAZMOY TPAINNEZA MNEIPAIQZ:
Ap. Aoy.: 5242 0035 75529
IBAN: GR 22017 22420 00524 20035 75529

-



INDUSTRIAL ALUMINIUM PROFILE SYSTEMS

% ¢ I'« R o

Systems  Chassis Conveyors Machine A umln I um
Profile

/g\/l/:\\ MEIMARIDOIS

B R O S

EMIMOPIA ZIAHPOY - AAOYMINIOY - T'YWOZANIAAZ - XPQMATQN
2ZOBAAQN - INOX NMANTOZ TYINOY - BIOMHXANIKA EPIrAAEIA
(ZTPANTZA - WAAIAI - KYAINAPOZ - MTANTOIPA®OZ)

Aoor MEIMAPIAH O.E.

2tadiou 97 - Bépola
TnA.: 23310 23342 - 23178 / Fax: 23310 67869

www.meimaridis.gr | info@meimaridis.gr BAT

KNAUF (itex) Amnco wears EREES

MODUEAR CONSTRUCTIONTECEHNOLOGIES
KATAAOIOZ NMPOIONTQN
PRODUCT LIST

2024
JANUARY

e-mail: sales@aluminium-profile.gr
www.aluminium-profile.gr




